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Question Number : 1 Question Id : 59445944130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given responses, find the missing term in the series.

AlA ,B4D, C91,DI16P,?
Options :

1. ® F25R

2. % F25Y

3. ®# E25R

4, ¥ E25Y

Question Number : 1 Question Id : 59445944130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fau e fawmed & 9, 30ft # g ue &) 31d Y

AlA ,B4D, C91,Dl16P,?
Options :

1. % F25R

2. % F25Y

3. % E25R

4, ¥ E25Y

Question Number : 2 Question Id : 59445944131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which option will complete the following series logically when the letters of the option are placed in the blanks from left to right?

m_ NO n pMN P_
Options :

1. * mNmoQO

2. ¥ nMmoOQ

3. % mnQOPo

4. ¥ mNmoOQ

Question Number : 2 Question Id : 59445944131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafRed & I S fawed < TS 4@d & difthds U 9 R BT ofd 39 faded & 3feR e fou e wirl & aid-3-a1d 81d oird 82

m_NO n pMN P
Options :

1. ¥ mNmoQO

2. ¥ nMmoOQ

3. ¥ mnQOPo




4. ®* mNmoOQ

Question Number : 3 Question Id : 59445944132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the odd one out from the given alternatives.
Options :

1. # Flock

2. ¥ Swan

3. # Colonies

4. % Herd

Question Number : 3 Question Id : 59445944132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&u U fgehedl # 9 fawH J1d B3 |
Options :

1. ® s

2.¥ 89

RCAKIE

4. % UJHHg

Question Number : 4 Question Id : 59445944133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the related word from the given alternatives:

Gujrat: Vijay Rupani :: Nagaland: ?
Options :

1. # Conrad Sangma

2. ¥ Neiphiu Rio

3. # Prem Singh Tamang



4. ¥ N Biren Singh

Question Number : 4 Question Id : 59445944133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fau 7T foeheul H J FHeiferd Woq BT =TT B -
ToRTd : faoTg $UrH :: AFTeS 2

Options :

1. % DIRIS T
2. ¢ Afthg Ry

3. % O Rig qui
4. % T IRARIE

Question Number : 5 Question Id : 59445944134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R is related to SQ in the same way as J is related to?
Options :

1. ¥ KI

2. % IK

3. % LI

4, % IL

Question Number : 5 Question Id : 59445944134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R, SQ I o1 R Tr&fid 7, I8 UeR J fra) Teifdra grmo
Options :

1. ¥ KI

2. % IK

3. % LI



4. % 1L

Question Number : 6 Question Id : 59445944135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code, VIRAT is coded as IVART, then how is ROHIT coded in the same way?
Options :

1. ¥ ORIHT

2. % OIRHT

3. # THOIR

4. % ORITH

Question Number : 6 Question Id : 59445944135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

s YT SIS H, VIRAT BT IVART & =0 # foRar S1d1 g | I lg H ROHIT P o ferar i 2
Options :

1. ¥ ORIHT

2. % OIRHT

3. ¥ THOIR

4. % ORITH

Question Number : 7 Question Id : 59445944136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Lalita is 21st from the top, among passed students in a class. Sujata is 4 ranks below Lalita and is 30th from the bottom. If the ratio of passed
students to failed students is 2 : 1. Then how many students are there in the class?

Options :
1. % 75
2.9 81
3. % 90
4. % 66



Question Number : 7 Question Id : 59445944136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hef H Il Bl | 9, 2 O aferar &t ¥ 219 § | GoIIdT Bt 3, AfRrdT § 4 RIF A9 8 9uT - ¥ 30dt 81 afe o & awd i fawd
BEI BT UM 2 : 1 8, A Hefl & Hdl [ B 82

Options :

1. % 75

2.9 81

3. %90

4. % 66

Question Number : 8 Question Id : 59445944137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four brothers A, C, R and S go to a hotel. They book four hotel rooms numbered 300, 301, 302 and 303. Sum of room numbers of A and R is
605 and the sum of room numbers of R and S is 604. What is the sum of room numbers of S and C?

Options :
1. % 602
2. % 603
3. % 604
4. % 601

Question Number : 8 Question Id : 59445944137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR HTE A, C, R 3R S BIed O1d & | T8 IR HHR 300, 301, 302 3R 303 §H B | A 3R R P HERT G BT AT 605 § AUTR 3RS P
HURT G- BT AN 604 § 1 S 3R C P U T BT TN T G

Options :

1. % 602

2. % 603

3. % 604



4. v 601

Question Number : 9 Question Id : 59445944138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question below, there are two statements followed by four conclusions given in options. You have to take the given statements to be true
even if they seem to be at variance with commonly known facts and then decide which of the given conclusion logically follow(s) from the given
statements.

Statements:
No sun is moon.
No sun is earth.

Note: For this question, discrepancy 1s found in question/answer. So,this

question 1s 1ignored for all candidates.
Options :

1. No moon is earth

2. All moon are earth

3. All earth is sun

4. All sun is moon

Question Number : 9 Question Id : 59445944138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fa feu e Uy ¥, @ 5y & 91 faded! # IR ey AT T || Siuen! 3T U SHuHl & I AT ], W 8 d gded al ¥ e Ui
gd g 1 gt el 1 ufeu fOhr aa Fifore fos fau e fersf & § &1 I1 ahTd $U T SRR 3 8, 918 JI91d 9 3 H &l

hY:

Pl T, IGH TR &

®1S . gedt T &

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.




Options :

1. IS AT, el 81 §
2. it dmr, gt §

3. vt gt g

4. gt g dem g

Question Number : 10 Question Id : 59445944139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e feu T v § S U 3R IS 91 o Fh T T 1 3mueh! fau Y i Syl ol I AT § U |1 3 gd3d au ¥ e Ui
gid gi | It s 1 ufgu bR 0 wifore fob fou e el & § S 91 dheiTd 30 I 3ERUI 1 §, 918 Jd1d 9 $ i gl

hY:

Tt Afear, ugrs |

Tt ST, URTS |

fsp:

1. % Afedr, SHTd g

1. B3 SHTd, Te 8l 3

Options :

1. % I Had FshY | 3ERU T 8

2. % i Had (5HY 11 TR0 BTl 5

3. ¢ i a1 al Fepd 1 a1 Y 11 SRR R §
4. % giE A A FpY 1 SR 7 81 TS 11 SR ikl §

Question Number : 10 Question Id : 59445944139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question below, there are two statements followed by two conclusions. You have to take the given statements to be true even if they seem
to be at variance with commonly known facts and then decide which of the given conclusion logically follow(s) from the given statements.

Statements:
All rivers are mountain.
All forests are mountains.



Conclusion:
I. Some rivers are forests.
I1. No forest is a river.

Options :

1. #* If only conclusion I follows

2. % If only conclusion II follows

3. ¥ If either conclusion I or II follows

4. % If neither conclusion I nor II follows

Question Number : 11 Question Id : 59445944140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question given, relations between different elements are shown in the statements. These statements are followed by two conclusions. Find
out which of the given conclusions follow(s) the given statements and select the correct alternative from the given choices.

Statement:
J<K<N=L>0>M

Conclusions:
IL.N>M
ILN>J

Options :

1. # If only conclusion I follows

2. # If only conclusion II follows

3. % Ifeither conclusion I or conclusion II follows

4. « If neither conclusion I nor conclusion II follows

Question Number : 11 Question Id : 59445944140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu U Uy H, Yy H 34 3rqudl & o9 ey ol <1 T 81 HU & 915 &l sy feu 7w §1 R U 99 & 3nyR R st &
3T HIfo MR Ifed S| &1 AT



hY:
J<K<N=L>0>M

frpy-
IL.N>M
II.LN>J

Options :

1. % IS Bad fspY | 3ERU AT ®

2. % e Had BT 11 IR0l Hdl &

3. % gfg g1 ) freemd 1 1 Feh 11 SFERUl a1 8

4.« gie T a1 fFepd 1 3R 7 8 sy 11 SraRu R §

Question Number : 12 Question Id : 59445944141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the related number from the given alternatives.

15:225::8:64::12:7?
Options :
1. ¥ 144
2. % 122
3. % 112
4. % 222

Question Number : 12 Question Id : 59445944141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau T faemeul § 9 defdd 9= o1 9T
15:225::8:64::12:7?

Options :

1. ¥ 144

2. % 122



3. % 112
4. % 222

Question Number : 13 Question Id : 59445944142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing number in the series given below.

23,29, 36,44, ?
Options :

1. ® 58

2. % 55

3.9 53

4. % 49

Question Number : 13 Question Id : 59445944142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e &t it goft § o e [ K |

23,29, 36,44, ?
Options :

1. = 58

2. % 55

3.9 53

4. % 49

Question Number : 14 Question Id : 59445944143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If each circle represents a class of objects/ideas written below, then find out the answer figure which illustrates the best relationship among.

“Dogs, Friendly animals, Cats "



Options :

OF

Question Number : 14 Question Id : 59445944143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I T g - fou U g faarRt @ gxifdr 8, df 98 STR i T1d L Sl Y 7 Jad dgaR e &1 g |

", FT R SR, fafeear
Options :




3.¢¥

Question Number : 15 Question Id : 59445944144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following figure, Star represents Pineapple, Rhombus represents orange and circle represents Red. Which set of letters represents pineapple
which are Red?



Options :
1. % a
2.% d

3.%b
4. ¥ f

Question Number : 15 Question Id : 59445944144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad sefa &, TR SAMN &I <2idT 8, THaqHS TR &1 ST 8 3R 91 AT &I Gidl g | 3R] &1 DI T THg SN &l
T 8 S T 82

D

Options :
1. % a
2.% d
3.%b
4. ¥ f



Question Number : 16 Question Id : 59445944145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Vivek put his watch on the table in such a way that at 6 P.M. hour hand points to North. In which direction the minute hand will point at 9.15
PM. ?

Options :

1. # South-East
2. % South

3. % North

4. ¥ West

Question Number : 16 Question Id : 59445944145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬁ%ﬁﬁ&mﬁu@ﬁawsﬂwwﬂ%m6aﬁﬂ%ﬁ§§wﬁmmw—cﬂ%mﬁ9.ls ol fire &1 g3 foa fezn o Sfa
Options :

1. % gfaogd

2. % g

3. % IW

4. UigH

Question Number : 17 Question Id : 59445944146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the figure that will come next in the following series.



Question figures:

Options :

Question Number : 17 Question Id : 59445944146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fATAfIRIT e o 311 31 dTell 3MThfd BT I B



W FFaar:

Options :

i

], %

A
2. ¥

X
3. %
4. %

Question Number : 18 Question Id : 59445944147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many triangles are there in the given figure?



Options :
1. % 16
2. % 18

3. ¢ 20
4. % 24

Question Number : 18 Question Id : 59445944147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1S frpfal H feba Byt 82

Options :
1. % 16
2. % 18

3. ¢ 20
4. % 24

Question Number : 19 Question Id : 59445944148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which answer figure will complete the pattern in the question figure?



3. ¢

Question Number : 19 Question Id : 59445944148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DHIF-T IR NPT, T MBI B YT Bl TR BRI



3. ¢

4. %

Question Number : 20 Question Id : 59445944149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the mirror image of the given image.



Question figures:

A

Options :

1. ¢

A
\
<
>

Question Number : 20 Question Id : 59445944149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 712 3npfa o1 gdur wfafsr a S



qeA HTHTAT:
A

Options :

A
\
<
>

2. ®
3. #
4, %

General Awareness
Group Number : 2
Group Id : 5944591033
Group Maximum Duration : 0

Group Minimum Duration : 0



Show Attended Group? : No

Edit Attended Group? : No
Break time : 0

Group Marks : 20
Is this Group for Examiner? : No

General Awareness

Section Id : 5944591758
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5944592047
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 59445944150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which festival is celebrated in Maharashtra when Pongal is celebrated in Tamil Nadu?
Options :

1. * Holi

2. * Baisakhi

3. ¥ Makar Sankranti

4. % Diwali

Question Number : 21 Question Id : 59445944150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



e BTG H UNTe AR SITell © o HRTY H DI 1 AGR HATI STl 82
Options :

1. % gleft

2. % STl

3. ¢ ThR Wehifd

4. % foareft

Question Number : 22 Question Id : 59445944151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following gave the title of Tansen to Tanna Mishra?
Options :

1. # Akbar

2. ¥ Raja Vikramjit

3. ¥ Raja Mansingh Tomar

4. ¥ Maharana Pratap

Question Number : 22 Question Id : 59445944151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoffead # O fam aen fiym &1 a@= &1 gurfdr
Options :

1. % 3PAR

2. ¢ 31T fagh il

3. % ol ARG IR

4. % YGRIUN YaTq

Question Number : 23 Question Id : 59445944152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Under whose reign was the Konark Sun Temple built?



Options :

1. ¥ King Narasimhadeva-I
2. % King Vairisimha

3. # King Vikramaditya

4. # King Pulakeshin I

Question Number : 23 Question Id : 59445944152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI BT Y AR e U H1d § S-am 747 U1
Options :

1. ¢ 7ol RIYGEa-1

2. ® Waﬁﬁrﬁ'

3. % o7 faseanie

4. % ST GABIRM 1

Question Number : 24 Question Id : 59445944153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In India, which among the following decides the repo rate?
Options :

1. # Central Government

2. # Banks themselves

3. ¥ Reserve Bank of India

4, % Commercial Banks

Question Number : 24 Question Id : 59445944153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR H, Ffifad § 3 &9 Y0 &R 99 BT 82

Options :



1. % B WDR
2. % Jg IF

3. ¢ YR erd s
4. % gIOIfUSP deb

Question Number : 25 Question Id : 59445944154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following years did the first nationalization of major commercial banks took place?
Options :

1. % 1947

2. % 1956

3. ¥ 1969

4. % 1981

Question Number : 25 Question Id : 59445944154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofiRed @ 3 fora av & yE aiftifcus dal &1 ugdl APTIHR e
Options :

1. % 1947

2. % 1956

3. ¥ 1969

4. % 1981

Question Number : 26 Question Id : 59445944155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is the laughing gas?
Options :

1. ¥ Nitrous Oxide



2. #% Carbon Monoxide
3. % Sulphur Dioxide
4. ¥ Hydrogen Peroxide

Question Number : 26 Question Id : 59445944155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FrafaRad o 9§ S 19 5O arell 19 87
Options :

1. ¢ A3 JHFTSS

2. % Pl AHISFES

3. % G TSNS S

4. % GISGIoH WRIHHES

Question Number : 27 Question Id : 59445944156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the lightest element on Earth?
Options :

1. % Helium

2. % Nitrogen

3. % Oxygen

4. ¥ Hydrogen

Question Number : 27 Question Id : 59445944156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeid & 9 & @ Tt IR 9aY el ad g2
Options :

1. % giferad

2. % A1EEIH




3. % ST
4. ¥ QIggIoH

Question Number : 28 Question Id : 59445944157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When was the first ever census held in India?
Options :

1. % 1861

2.9 1872

3. % 1891

4. % 1862

Question Number : 28 Question Id : 59445944157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YRA H Ugell IR SFRTUAT e gs A2
Options :

1. % 1861

2.9 1872

3. % 1891

4. % 1862

Question Number : 29 Question Id : 59445944158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following mountain ranges separates Europe from Asia?
Options :

1. % Andes

2. % Himalayas

3. % Kunlun

4.+ Urals



Question Number : 29 Question Id : 59445944158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafied o 9 & T udd §aa1 IR B TRET Y 3T B0l 82
Options :

1. ® G

2. % fgaTer™g

3. % GG

4. A

Question Number : 30 Question Id : 59445944159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The state of Sikkim was formed under which of the following Amendment Act?
Options :

1. ¥ 36th Constitutional Amendment Act 1975

2. % 22nd Constitutional Amendment Act 1962

3. # 29th Constitutional Amendment Act 1970

4. ® 42nd Constitutional Amendment Act 1987

Question Number : 30 Question Id : 59445944159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgferfad § O fog I=ie siffaw o dgd Rifden g &1 e+ foear mar Ut
Options :

1. ¢ 36 d Afaem I=meA e 1975

2. % 22 d Afau I=med AT 1962

3. % 20 d dfgum d=nem siffFaw 1970

4. % 42 d Gy G=me= fAfaH 1987



Question Number : 31 Question Id : 59445944160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where did the Round Table Conferences take place?
Options :

1. # Lucknow

2. % New Delhi

3. ¥ Pune

4. ¥ London

Question Number : 31 Question Id : 59445944160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS T B8l gl UT?

Options :

1. % G1$H

2. % 7 faertl

3. % gol

4. ¢ dsd

Question Number : 32 Question Id : 59445944161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which year did Aurangzeb's reign end?
Options :
1. % 1705
2. % 1706
3.9 1707
4, % 1708

Question Number : 32 Question Id : 59445944161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
RATSIE BT YT BT fohd I AT G2
Options :

1. % 1705

2. % 1706

3.9 1707

4, % 1708

Question Number : 33 Question Id : 59445944162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From which of the following countries did India adopt the concept of Fundamental Rights?
Options :

1. % United kingdom

2. # France

3. % Germany

4. ¥ United States America

Question Number : 33 Question Id : 59445944162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol # 9 forg 43 ¥ YRA A Wi SABRT 1 SR D ST
Options :

1. % gAgcS fhreq

2. % g

3. % ST

4. ¢ Tgad oY AR

Question Number : 34 Question Id : 59445944163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How long did it take the Constituent Assembly to complete the final draft of the Indian Constitution?



Options :

1. ¥ 2 Years, 11 Months, 17 Days
2. % 3 Years

3. % 2 Years, 10 Months, 18 Days
4. % 3 Years, 4 Months, 7 Days

Question Number : 34 Question Id : 59445944163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Afder o 3ifaq Uy &1 GR1 H= T Afder g1 H1 food =1 I9g @
Options :

1.¥ 298, 11 96, 17 A

2. % 399

3. % 294 10 |6, 18 fad

4. % 399 4HsH, 7 e

Question Number : 35 Question Id : 59445944164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who has been chosen for the inaugural edition of Chhattisgarh Veerni Award?
Options :

1. # Suzanna Mukherjee

2. # Vega Tamotia

3. ¥ Dutee Chand

4. % Swati Verma

Question Number : 35 Question Id : 59445944164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BTG IR RIBR & IUTe BT & g s g1 71 82

Options :




1. % oI g@oit
2. % QT qHIfa
3. ¢ gdlda

4. % rfa gAf

Question Number : 36 Question Id : 59445944165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who has been named as the Wisden ODI Cricketer of the Decade: 2001-2010?
Options :

1. # Virat Kohli

2. % Virendra Sehwag

3. # Sachin Tendulkar

4. ¥ Mutthaiah Muralitharan

Question Number : 36 Question Id : 59445944165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgore ODI fohdhex T & f&dhS: 20012010 & U F b i fovan man g2
Options :

1. % faRre Higa

2. % dRg GganT

3. % g dgddr

4.« QU1 TRATERA

Question Number : 37 Question Id : 59445944166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which film has won the Oscar for 'Best Picture' at the 93rd Academy Awards?
Options :

1. ¥ Nomadland



2. % Soul
3. # Wolfwalkers

4. % Qver the moon

Question Number : 37 Question Id : 59445944166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

933 SPTCH RIHRI # fb g b 7 Ty R 1 3ifees siiar 82
Options :

1. ¢ IS S

2. % 9id

3. % Jepalhy

4. % IR T

Question Number : 38 Question Id : 59445944167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year Dadasaheb Phalke Award was instituted?
Options :

1. % 1975

2. ¥ 1969

3. % 1963

4. % 1983

Question Number : 38 Question Id : 59445944167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gTaT T8 Wiesh QRER fovd ay I fosa T om
Options :

1. % 1975

2. % 1969




3. % 1963
4. % 1983

Question Number : 39 Question Id : 59445944168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which country secured rank first in the world Happiness Index 20217
Options :

1. # Denmark

2. # Norway

3. % Finland

4. % Newzealand

Question Number : 39 Question Id : 59445944168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fay SuiE SS9 2021 H b 1 7 0w RIM U faam
Options :

1. % SIS

2. % 4id

3. ¢ fircls

4. % il

Question Number : 40 Question Id : 59445944169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On which day Earth Day is observed across the world?
Options :

1. % 22nd April

2. % 27th May

3. % 8th April



4. % 22nd March

Question Number : 40 Question Id : 59445944169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g R T forg T gt fieae oemen i g2
Options :
1. ¥ 22 30
2. % 2773
3. % g 3
4.% 2206
Arithmetic Ability
Group Number : 3
Group Id : 5944591034
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Arithmetic Ability
Section Id : 5944591759
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20



Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5944592048
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 59445944170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What will come in the place of question mark (?) in the given expression?

7,18,23 _,
3

7 21

Options :
1. %5
2.9 6
3. %55
4. %175

Question Number : 41 Question Id : 59445944170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fou T vl H Uy g (2) & R IR 347 ST

7 18 23

= - — ="?
3 7 21
Options :

l.* 5

2.9 6

3. %55



4. %175

Question Number : 42 Question Id : 59445944171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What value will come in place of question mark (?) in the following question?

Y1331+ 32197 — i/729 =2

Options :
1. % 12
2.% 13
3.¥ 15
4. % 17

Question Number : 42 Question Id : 59445944171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
0 e H Uy g (2) & I R R HE ST

Y1331+ 32197 — /729 =2

Options :
1. % 12
2.% 13
3.¥ 15
4. % 17

Question Number : 43 Question Id : 59445944172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



What is the LCM of two expressionsa’+2a- 3 anda’+a-2?

Options :
| w @Tda’tat6

) % a’-4al+a-12

s watda’t+a-6
4 % @ t4dal-at+12

Question Number : 43 Question Id : 59445944172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

al 3fsteafed a’ + 2a -3 3R a’ + a-2 &1 Tgrad GAYacd (LCM) Fohaer g2

Options :
| w@t4a’+a+6

- a’-4al+a-12

s watda’t+a-6

4 % @ tdal-at+12

Question Number : 44 Question Id : 59445944173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

HCF of E.i and 2 is:
6'a 15

Options :
1
1
1
3.8 10
1
4, ® o

Question Number : 44 Question Id : 59445944173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= =3 = T Fgeas FAIIACF ¢

6’0

Options :
1
1



Question Number : 45 Question Id : 59445944174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the largest fraction of the following fractions?
Options :
18
1. # 40

35
78

14
32

Question Number : 45 Question Id : 59445944174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafaRad el d O gaa 981 3 91d pifse?

Options :




18

36
78

14
32

Question Number : 46 Question Id : 59445944175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Average of 32 numbers is increased by 0.25 when a number is replaced with 68. Find the replaced number.
Options :

1. ¥ 60

2. % 62

3. % 58

4. % 56

Question Number : 46 Question Id : 59445944175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e T TT 1 68 F UfaTiie foran S 8 Y 32 Tmait &1 i d 0.25 ¢ SitdT g | UfauTiud o1 718 T J1d Hy?
Options :

1. ¥ 60

2. % 62

3. % 58

4. % 56



Question Number : 47 Question Id : 59445944176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are two numbers 'x' and 'y'. 60 percent of 'x' is equal to 40 percent of 'y". If the average of 'x' and 'y' is 105, then what is the difference
between 'x' and 'y'?

Options :

1. % 45

2. % 38

3. % 28

4, ¥ 42

Question Number : 47 Question Id : 59445944176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3= x' 3Ry § 1 'x' BT 60 YA, y' & 40 UFIT & SRR g1 TS x' 3R 'y' BT 3 105 8, Al 'x' 3R 'y & &id BT 3feR fpa 82
Options :

1. % 45

2. % 38

3. % 28

4. ¥ 42

Question Number : 48 Question Id : 59445944177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A candidate scores 28 percent and fails by 9 marks while another candidate who scores 42 percent marks gets 12 marks more than the minimum
marks required to pass the examination. Find the minimum marks required to pass the examination.

Options :
1. ¥ 51
2. % 49
3. % 53
4. % 47



Question Number : 48 Question Id : 59445944177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T URIeif 28 UfARId 3id Tt vl § SR 9 3! I S g1 offd] g, STaidh ST U1e H 42 Tia=id e Ut - aTd gk SHIGdR &l
TRIET U H= o [T SMTa=ad =LAaH 3! 4 12 3 3 U Bid & | TRIET S0 B o [o18 SHTTRID JATH 3 J1d DiTord 2
Options :

1.¥ 51

2. % 49

3. % 53

4. % 47

Question Number : 49 Question Id : 59445944178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

48 Chairs are bought at the marked price of 40 chairs. If these 48 chairs are sold after giving a discount of 2 percent, find the profit percentage.
Options :

1. # 15 percent

2. ¥ 17.6 percent

3. * 14 percent

4. # 12.5 percent

Question Number : 49 Question Id : 59445944178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

48 PRITI B 40 HRIA & 3ifehrd Heu R W ST 81 T 37 48 SR Y 2 Ufwrd e 27 & &1 521 Sl 3, o o ufer=rd I1d 3|

Options :

1. % 15 gfa=rd
2. ¢ 17.6 Ufa=d
3. % 14 Yfard
4. % 12.5 gfa=rd



Question Number : 50 Question Id : 59445944179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Nagarjun and Nayantara started a business together with an investment of Rs. (1600 + x) and Rs. (1800 + 3x). After a year, Nayantara received a
profit of Rs.3200 out of total profit of Rs. 5600. What is the initial investment of Nagarjun?

Options :

1. ¥ Rs. 1800
2. % Rs. 2400
3. % Rs. 2000
4. % Rs. 3200

Question Number : 50 Question Id : 59445944179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FATTS SR TR (1600 + x) TUY 3R (1800 + 3x) T AN & 1Y HFRITR Y& (HT| T I8 S1eT TIIdRT B! A A 5600 TUG
A 3200 UL BT ATH U 3111 AN BT RS o 71 ]2

Options :

1. ¢ 1800 TUI

2. # 2400 &UY

3. % 2000 &Y

4. % 3200 TUY

Question Number : 51 Question Id : 59445944180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Vibha is 7 years older than her sister Kiran. Respective ratio of present ages of Kiran and her mother is 1 : 3 and sum of their ages after 3 years
will be 70 years. What was the respective ratio of ages of Vibha and her mother before 3 years?

Options :
1. % 3:5
2.%5:8
3.%5:9
4.9 4:9



Question Number : 51 Question Id : 59445944180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fauT 3ot T8 foxT § 7 9N 981 ¢ 1 TR SR ST AT DT 31T HT &I ST 1 2 3 § 3R 3 T 918 SDT 3 HT AN 70 IS &I
ST 3 98 Ugd fauT 3R S9! AT &1 3G HT & fd ST fooe1 82

Options :

1. % 3:5
2.% 5:8
3.%5:9
4.9 4:9

Question Number : 52 Question Id : 59445944181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The interest earned on Rs. 4800 at rate of R percent compounded annually is Rs. 1008 after 2 years. What would be the simple interest earned on
the same amount at the rate of (R + 5) percent per annum after 3 years?

Options :

1. % Rs. 1620
2. % Rs. 1740
3. ¥ Rs. 2160
4. % Rs. 2480

Question Number : 52 Question Id : 59445944181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4800 ¥TY IR R UTIRId Iehgfa o1 R &l a9 d18 3ffofd &a1eT 1008 08 g1 3 I8 & §18 Ufd I8 (R+5) Ufa<rd & a3 9 34T AR W 34fSia
HIYROT TS fobd =T I

Options :

1. % 1620 &0
2. % 1740 TG
3. ¢ 2160 &0




4. % 2480 U

Question Number : 53 Question Id : 59445944182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A train crosses a platform of length 160 m in 26 sec. If the speed of the train is doubled, it can cross a person running towards the train from the
opposite direction with speed 72 km/hr in 6 sec. What is the length of the train (in metres)?

Options :
1. * 240
2. % 320
3. % 280
4. ¥ 360

Question Number : 53 Question Id : 59445944182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP ¢ 160 HicR Td WehTH B 26 Ydhs T IR dcl g | TG S P11 SR 8, A I8 72 fhatex/der &1 1fa 9 fawita foen 9 s g
fdd B 6 Jdhe W UR HRl & | S P AaTg (bl § (HIex H)?

Options :

1. % 240

2. % 320

3. % 280

4. ¥ 360

Question Number : 54 Question Id : 59445944183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a man rows at the rate of 5 kmph in still water and his rate against the current is 3.5 kmph, then the man’s rate along the current is :
Options :

1. #® 4.25 kmph

2. % 8.5 kmph

3. ¥ 6.5 kmph



4. % 5.5 kmph

Question Number : 54 Question Id : 59445944183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gﬁwmw@ﬁﬁswqﬁﬁ%ﬁaﬁaﬁvw%ﬁwasmuﬁﬁaaﬁﬂﬁﬁévw%,a&mﬁﬁvﬁum%ma

Options :

1. % 425 fepatgfage
2. % g5 fpHtgfa e
3. ¢ 6.5 fhalufa ge
4. % ssfepdiufade

Question Number : 55 Question Id : 59445944184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The time taken by A along to complete a task is 4 days more than time needed by B to complete same task alone. The time taken by C to
complete same task is 6 days more than time taken by A alone for same task.

Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :
1. 16 days
2. 22 days
3. 24 days
4. 26 days

Question Number : 55 Question Id : 59445944184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3BT A GRIHTH DI I B | 7T T T b B §RT HTH b1 IR HRA H o T8I0 § 4 37 $4f% § a1 3iohdl ¢ gRT feran
T el A GRT o1E 7T 90 W 6 & 31f¥e §1 afe Theny B $iR ¢ R foran T v 12 fa 8, d st A g1 foran 7 993 31 & |




Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :
1. 16 fa=
2. 227
3.24 T
4.26 fa

Question Number : 56 Question Id : 59445944185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The perimeter of a sheet of a paper in the shape of a quadrant of a circle is 50 cm. It’s area would be (Use © = 22/7):
Options :

1. % 162 sqcm

2.9 154 sq cm

3. % 147 sqcm

4. % 144 sq cm

Question Number : 56 Question Id : 59445944185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4 & Uh IgUf & MR § Th BHTS & Uh T Bt URTY 50 I 8 | STBT &6 SN (TN « = 22/7):
Options :

1. % 162 1 AT

2. 154 T 9T

3. % 147 I O

4, % 144 37 IR

Question Number : 57 Question Id : 59445944186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
In what ratio are the volumes of a cylinder, a cone and a sphere if each has the same diameter and same height?

Options :

[.%1:2:3
2.%2:3:1
3.03:1:2
4 % 2:2:1

Question Number : 57 Question Id : 59445944186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g THh 90, TH TP 3R TH TNl H TS &1 N THM g AR Sdls THM ¢ dl 3BT SaH [l 3urd § g

Options :

1.%1:2:3
2.% 2:3:1
3.03:1:2
4. % 2:2:1

Question Number : 58 Question Id : 59445944187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The pie-chart given below shows the percentage distribution of the number of winter wears (hoodies and jackets) sold by different malls (A, B,

C, D and E) on Monday. The respective ratio of the number of hoodies and jackets sold by mall D is 14:13, and the number of hoodies sold by
mall D is 280.



Percentage distribution of the number of winter wears
sold

Find the difference between the number of winter wears sold by mall A and by mall C.
Options :

1. % 120

2. % 100

3. % 80

4. v 90

Question Number : 58 Question Id : 59445944187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
2 faw e urg =1 # HHaR & fafie Jid (A, B, €, D 3R E) gRT & §H dld SIS & $Us (gfs SR Sidbe) BT U 1 fcrerd faeaRum
fearar a1 81 A D §RT 92 T S 3R Sidbe o1 TReAT &1 Waiferd SUTd 14:13 €, 3R Al D gRT S OfF aTdl §fS &1 W2 280 B




T AT AR F FIF Y gEg F1 giFya fewor

A A 3R Al C gRT 9 T SIS & HUS BI AT & d1d BT 3R J1d B2
Options :

1. % 120

2. % 100

3. % 80

4. ¥ 90

Question Number : 59 Question Id : 59445944188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The pie-chart given below shows the percentage distribution of the number of winter wears (hoodies and jackets) sold by different malls (A, B,

C, D and E) on Monday. The respective ratio of the number of hoodies and jackets sold by mall D is 14:13, and the number of hoodies sold by
mall D is 280.



Percentage distribution of the number of winter wears
sold

If the respective ratio of the number of hoodies to jackets sold by mall E on Monday is 5: 4, then find the number of jackets sold by mall E on
Monday.

Options :
1. % 90
2. % 150
3.9 120
4. % 80

Question Number : 59 Question Id : 59445944188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
2 fau e urg 91é # WmaR &1 fafis | (A, B, €, D 3R E) gRT 99 O dle W18 & $US (§1S 3R Sidbe) B J@A1 1 Ufererd faarum
fearan a1 81 Ald D GRT 99 U S SiR Sidhe 1 U1 &1 HaTed ST 14:13 §, 3R Al D GRT 9 SfF aTdl §1S &1 62T 280 B




T AT AR F FIF Y gEg F1 giFya fewor

gfe MHAR &I Al E gRT 9 T §fS 3R Sidhe B TS BT 30T 5: 4 8 dl AR $I Al E gRT ST Tt Slohe & TReT J1d a2

Options :
1. % 90
2. % 150
3.¥ 120
4. % 80

Question Number : 60 Question Id : 59445944189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The chart given below represents the number of chocolates and number of toffees sold by five different shops (A, B, C, D and E) in December.



1500

1680

1600

1400

1200

1000

800 -

600

400

200

A B c B E

m Number of Chocolates Saold m Number of Toffees Sold

What is the ratio of number of toffees sold by shop A and shop C together to the number of toffees sold by shop D and E together in December?
Options :

1. % 4:5

2.%3:5

3.2:3

4. % 12:17

Question Number : 60 Question Id : 59445944189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e e o 91 ¥R o Ui 1T g M (A, B, C, D 3R E) GRT S! T3 dldbaic 3R Sl o W& &1 UfafAfia Ha1 g
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Options :
1. % 4:5
2. %3:5
3.¢2:3
4. % 12:17

General English
Group Number : 4
Group Id : 5944591035
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No

Break time : 0



Group Marks : 20
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Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 59445944190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four sentences are given out of which three sentences are grammatically incorrect while one is correct. Find out which
sentence is grammatically correct and select the appropriate option.

Options :

1. # Kenyans have starving children for feed and utility bills to pay.

2. % We are aware that most of those writing policy for this country only hears about poverty on a podcast.
3. ¢ There is only one enemy everyone is united in fighting right now, and it isn’t poor people.

4. # Kenyans are finding it difficult to cooperating with recent policy positions advanced by his government.

Question Number : 61 Question Id : 59445944190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four sentences are given out of which three sentences are grammatically incorrect while one is correct. Find out which
sentence is grammatically correct and select the appropriate option.



Options :

1. #® Kenyans have starving children for feed and utility bills to pay.

2. % We are aware that most of those writing policy for this country only hears about poverty on a podcast.
3. ¥ There is only one enemy everyone is united in fighting right now, and it isn’t poor people.

4. ® Kenyans are finding it difficult to cooperating with recent policy positions advanced by his government.

Question Number : 62 Question Id : 59445944191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the segment in the sentence which contains the grammatical error from the given options.

The father told his son that he was a lazy boy and that he had done his work very bad.
Options :

1. # The father told his son

2. # that he was a lazy boy

3. % and that he had done

4. ¥ his work very bad

Question Number : 62 Question Id : 59445944191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the segment in the sentence which contains the grammatical error from the given options.

The father told his son that he was a lazy boy and that he had done his work very bad.
Options :

1. # The father told his son

2. % that he was a lazy boy

3. % and that he had done

4. ¥ his work very bad

Question Number : 63 Question Id : 59445944192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select No
substitution required.

In the past, there had been multiple episodes of Zaheer Khan breaking down on the first day of the game.
Options :

1. # there has been

2. % there have been

3. % there are

4. ¥ No substitution required

Question Number : 63 Question Id : 59445944192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select No
substitution required.

In the past, there had been multiple episodes of Zaheer Khan breaking down on the first day of the game.
Options :

1. # there has been

2. # there have been

3. % there are

4. ¥ No substitution required

Question Number : 64 Question Id : 59445944193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select No
substitution required.

Every time the United States wants to put a suspect who is in the UK in trial, its prosecutors ask the British government.
Options :

1. * who is in UK with trial

2. % who is in the UK on trial

3. % who is in UK in trial




4. # No substitution required

Question Number : 64 Question Id : 59445944193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select No
substitution required.

Every time the United States wants to put a suspect who is in the UK in trial, its prosecutors ask the British government.

Options :

1. # who is in UK with trial
2. % who is in the UK on trial
3. # who is in UK in trial

4. % No substitution required

Question Number : 65 Question Id : 59445944194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The rest of this post won't make much sense you read at least the first poem.
Options :

1. % if

2. % as

3. ¥ unless

4. ® whether

Question Number : 65 Question Id : 59445944194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The rest of this post won't make much sense you read at least the first poem.
Options :



1. #® if

2. % as

3. % unless
4. #® whether

Question Number : 66 Question Id : 59445944195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Traditionally the biggest for digital nomads has been finding fast and reliable Wi-Fi.
Options :

1. # gambol

2. % draught

3. # backlash

4. ¥ hurdle

Question Number : 66 Question Id : 59445944195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Traditionally the biggest for digital nomads has been finding fast and reliable Wi-Fi.
Options :

1. # gambol

2. # draught

3. # backlash

4. ¥ hurdle

Question Number : 67 Question Id : 59445944196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the following sentences in their correct order to form a meaningful paragraph.



P. Another factor contributing to the popularity of genealogy is the existence of the Internet which makes it easier to track long-lost relatives.
Q. People are naturally curious about their families and that is why they trace family roots to satisfy their curiosities about their ancestors,
descendants and family relationships.

R. Genealogy is a perfect hobby for those who are interested to learn more about themselves and their families.

S. By tracking down family roots, people learn more about their family history and themselves.

Options :

1. % PSQR
2. % QPSR
3. # PQRS
4. ¥ RQSP

Question Number : 67 Question Id : 59445944196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the following sentences in their correct order to form a meaningful paragraph.

P. Another factor contributing to the popularity of genealogy is the existence of the Internet which makes it easier to track long-lost relatives.
Q. People are naturally curious about their families and that is why they trace family roots to satisfy their curiosities about their ancestors,
descendants and family relationships.

R. Genealogy is a perfect hobby for those who are interested to learn more about themselves and their families.

S. By tracking down family roots, people learn more about their family history and themselves.

Options :

1. % PSQR
2. % QPSR
3. % PQRS
4. ¥ RQSP

Question Number : 68 Question Id : 59445944197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question given below, rearrange the sentences in the correct order, and choose the correct option. The first and sixth (last) statements are
given in the right sequence and are fixed.

1. The city is almost a slum and stinks most of the time.



P: The slush on the road did not deter them.

Q: The occasional slips and falls were considered a small price to pay for the trip.

R: They were excited, fascinated by the sight of fresh snow on the road.

S: Even so, it looked beautiful to tourists of various categories.

6. But some visitors came away with the unforgettable sight of young labourers scantily clad.

Options :

1. ¥ PQSR
2. % RQPS
3. ¥ RSQP
4. ¥ SPQR

Question Number : 68 Question Id : 59445944197 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question given below, rearrange the sentences in the correct order, and choose the correct option. The first and sixth (last) statements are
given in the right sequence and are fixed.

1. The city is almost a slum and stinks most of the time.

P: The slush on the road did not deter them.

Q: The occasional slips and falls were considered a small price to pay for the trip.

R: They were excited, fascinated by the sight of fresh snow on the road.

S: Even so, it looked beautiful to tourists of various categories.

6. But some visitors came away with the unforgettable sight of young labourers scantily clad.

Options :

1. # PQSR
2. % RQPS
3. % RSQP
4. % SPQR

Question Number : 69 Question Id : 59445944198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

MEMORANDUM



Options :

1. # Evacuation
2. ¥ Missive

3. # Gradient
4. ¥ Despair

Question Number : 69 Question Id : 59445944198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

MEMORANDUM
Options :

1. # Evacuation
2. ¥ Missive

3. % Gradient

4. ¥ Despair

Question Number : 70 Question Id : 59445944199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

CURBS
Options :

1. # Crackdown
2. % Trammel
3. # Stricture
4. ¥ Release

Question Number : 70 Question Id : 59445944199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate antonym of the given word.

CURBS
Options :

1. # Crackdown
2. # Trammel
3. % Stricture
4. ¥ Release

Question Number : 71 Question Id : 59445944200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelt word.

Options :

1. ¥ Decree

2. # Dicree

3. % Decry

4. % Decrie

Question Number : 71 Question Id : 59445944200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelt word.

Options :

1. ¥ Decree

2. # Dicree

3. # Decry

4. #® Decrie

Question Number : 72 Question Id : 59445944201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the wrongly spelt word.
Options :

1. ¥ Florescant

2. % Fourth

3. # Frantically

4. ® February

Question Number : 72 Question Id : 59445944201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the wrongly spelt word.

Options :

1. ¥ Florescant

2. # Fourth

3. * Frantically

4. % February

Question Number : 73 Question Id : 59445944202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom/ phrase.

Every cloud has a silver lining

Options :

1. ¥ There is something good in everything that's bad

2. # Increase the demands or risks to obtain better results
3. %* In good health

4. % To do something immediately

Question Number : 73 Question Id : 59445944202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate meaning of the given idiom/ phrase.

Every cloud has a silver lining

Options :

1. ¢ There is something good in everything that's bad

2. # Increase the demands or risks to obtain better results
3. # In good health

4. # To do something immediately

Question Number : 74 Question Id : 59445944203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom/ phrase.

Sought after

Options :

1. ¥ Highly paid

2. % Pursued by

3. ¥ In great demand
4. % Work hard

Question Number : 74 Question Id : 59445944203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom/ phrase.

Sought after

Options :

1. # Highly paid

2. % Pursued by

3. ¢ In great demand
4. ® Work hard



Question Number : 75 Question Id : 59445944204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

One who can easily be deceived/cheated
Options :

1. ¥ Gullible

2. % Prudent

3. % Cosmopolitan

4. * Veteran

Question Number : 75 Question Id : 59445944204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

One who can easily be deceived/cheated
Options :

1. ¥ Gullible

2. % Prudent

3. # Cosmopolitan

4. % Veteran

Sub-Section Number : 2
Sub-Section Id : 5944592050
Question Shuffling Allowed : Yes

Question Id : 59445944205 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)
Read the following passage and answer the questions below.

The first English factory was set up on the banks of the river Hugli in 1651. This was the base from which the Company’s traders, known at that
time as “factors”, operated. The factory had a warehouse where goods for export were stored, and it had offices where Company officials sat. As



trade expanded, the Company persuaded merchants and traders to come and settle near the factory. By 1696 it began building a fort around the
settlement. Two years later it bribed Mughal officials into giving the Company zamindari rights over three villages. One of these was Kalikata,
which later grew into the city of Calcutta or Kolkata as it is known today. It also persuaded the Mughal emperor Aurangzeb to issue a farman
granting the Company the right to trade duty free.

The Company tried continuously to press for more concessions and manipulate existing privileges. Aurangzeb’s farman, for instance, had granted
only the Company the right to trade duty free. But officials of the Company, who were carrying on private trade on the side, were expected to pay
duty. This they refused to pay, causing an enormous loss of revenue for Bengal.

Through the early eighteenth century the conflict between the Company and the nawabs of Bengal intensified. After the death of Aurangzeb, the
Bengal nawabs asserted their power and autonomy, as other regional powers were doing at that time. Murshid Quli Khan was followed by
Alivardi Khan and then Sirajuddaulah as the Nawab of Bengal. Each one of them was a strong ruler. They refused to grant the Company
concessions, demanded large tributes for the Company’s right to trade, denied it any right to mint coins, and stopped it from extending its
fortifications.

Sub questions

Question Number : 76 Question Id : 59445944206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the given passage the conflict between the Company and the nawabs of Bengal in the early eighteenth century.
Options :

1. % decreased

2. # diversified

3. ¥ intensified

4. # diminished

Question Number : 77 Question Id : 59445944207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why did the Company persuade the Mughal Emperor Aurangzeb to issue a farman?
Options :

1. ¥ for granting it the right to trade freely in Bengal province

2. % for gaining a lot of wealth for Mughal Emperor Aurangzeb

3. # for camouflaging the Mughal Emperor Aurangzeb

4. # for removing the Purtugese from Bengal province



Question Number : 78 Question Id : 59445944208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the correct chronological order of rulers (nawabs) of Bengal according to the given passage?
Options :

1. ¥ Murshid Quli Khan, Sirajuddaulah, Alivardi Khan

2. % Alivardi Khan, Murshid Quli Khan, Sirajuddaulah

3. # Sirajuddaulah, Murshid Quli Khan, Alivardi Khan

4. % Murshid Quli Khan, Alivardi Khan, Sirajuddaulah

Question Number : 79 Question Id : 59445944209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following best expresses the opposite meaning to the given word “Manipulate”?
Options :

1. # contrive

2. ¥ fumble

3. % influence

4. % control

Question Number : 80 Question Id : 59445944210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is incorrect according to the given passage?

Options :

1. # The Company tried continuously to press for more concessions and manipulate existing privileges.

2. # This they refused to pay, causing an enormous loss of revenue for Bengal.

3. ¥ Two years later it bribed Mughal officials into giving the Company zamindari rights over five villages.

4. # As trade expanded, the Company persuaded merchants and traders to come and settle near the factory.

Question Id : 59445944205 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No



Question Numbers : (76 to 80)
Read the following passage and answer the questions below.

The first English factory was set up on the banks of the river Hugli in 1651. This was the base from which the Company’s traders, known at that
time as “factors”, operated. The factory had a warehouse where goods for export were stored, and it had offices where Company officials sat. As
trade expanded, the Company persuaded merchants and traders to come and settle near the factory. By 1696 it began building a fort around the
settlement. Two years later it bribed Mughal officials into giving the Company zamindari rights over three villages. One of these was Kalikata,
which later grew into the city of Calcutta or Kolkata as it is known today. It also persuaded the Mughal emperor Aurangzeb to issue a farman
granting the Company the right to trade duty free.

The Company tried continuously to press for more concessions and manipulate existing privileges. Aurangzeb’s farman, for instance, had granted
only the Company the right to trade duty free. But officials of the Company, who were carrying on private trade on the side, were expected to pay
duty. This they refused to pay, causing an enormous loss of revenue for Bengal.

Through the early eighteenth century the conflict between the Company and the nawabs of Bengal intensified. After the death of Aurangzeb, the
Bengal nawabs asserted their power and autonomy, as other regional powers were doing at that time. Murshid Quli Khan was followed by
Alivardi Khan and then Sirajuddaulah as the Nawab of Bengal. Each one of them was a strong ruler. They refused to grant the Company
concessions, demanded large tributes for the Company’s right to trade, denied it any right to mint coins, and stopped it from extending its
fortifications.

Sub questions

Question Number : 76 Question Id : 59445944206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the given passage the conflict between the Company and the nawabs of Bengal in the early eighteenth century.
Options :

1. #® decreased

2. # diversified

3. ¥ intensified

4. #® diminished

Question Number : 77 Question Id : 59445944207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Why did the Company persuade the Mughal Emperor Aurangzeb to issue a farman?
Options :



1. ¢ for granting it the right to trade freely in Bengal province
2. # for gaining a lot of wealth for Mughal Emperor Aurangzeb
3. # for camouflaging the Mughal Emperor Aurangzeb

4. % for removing the Purtugese from Bengal province

Question Number : 78 Question Id : 59445944208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the correct chronological order of rulers (nawabs) of Bengal according to the given passage?
Options :

1. ¥ Murshid Quli Khan, Sirajuddaulah, Alivardi Khan

2. % Alivardi Khan, Murshid Quli Khan, Sirajuddaulah

3. % Sirajuddaulah, Murshid Quli Khan, Alivardi Khan

4. % Murshid Quli Khan, Alivardi Khan, Sirajuddaulah

Question Number : 79 Question Id : 59445944209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following best expresses the opposite meaning to the given word “Manipulate”?
Options :

1. # contrive

2. ¥ fumble

3. % influence

4. % control

Question Number : 80 Question Id : 59445944210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is incorrect according to the given passage?

Options :

1. # The Company tried continuously to press for more concessions and manipulate existing privileges.
2. # This they refused to pay, causing an enormous loss of revenue for Bengal.

3. ¥ Two years later it bribed Mughal officials into giving the Company zamindari rights over five villages.



4. % As trade expanded, the Company persuaded merchants and traders to come and settle near the factory.
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Question Number : 81 Question Id : 59445944211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=faRed 8§ @ SreF< § S 9y g2



Options :

1. % 3rfe HfY
2. % fogei dfY
3. % gUI Y
4. ¥ o HiY

Question Number : 81 Question Id : 59445944211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAfafea & @ e & SF-3) 9fY 32
Options :

1. % 3fe °iY

2. % foge &y

3. % gUI Y

4. ¢ o Y

Question Number : 82 Question Id : 59445944212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR & ¥ g &7 o XIeg 3T 5T
Options :

1. % g

2. ¥ qaYrad

3. ® qaHVD

4, % gdie

Question Number : 82 Question Id : 59445944212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frefeRed & & 3T 1 doeH Tsg 1 81T

Options :



1. % graM
2. ¢ GdYra-
3. % ddodold
4. % gdre

Question Number : 83 Question Id : 59445944213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT & T S1H-97 Weg UTT &1 YN B ST 771 82
Options :

1. % AHqiu

2. % faaTe

3. ¢ e

4. % 83

Question Number : 83 Question Id : 59445944213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAfIRIT T ¥ 19-91 Tog U BT TN R ST 7T 62
Options :

1. % 3{qIU

2. % foeTaran

3. ¢ dfeH

4. % 98X

Question Number : 84 Question Id : 59445944214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FEARIRIT o ¥ -1 /e UTadTad ST 1 3&TeRUl 67
Options :

1. ¢ TGRIEC




2. % ot
3. % JET
4, % Y

Question Number : 84 Question Id : 59445944214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FEARIRId o ¥ -9 /68 HTadTad ST 61 3&TeRUT 67
Options :

1. ¥ TGRTEC

2. % dt

3. % MHYT

4, % g}

Question Number : 85 Question Id : 59445944215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Pt o § »sits" &1 uafaare e HH-31 82
Options :

1. % Mgl

2. % 3W

3. % Wl

4. % Y

Question Number : 85 Question Id : 59445944215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FfRId o ¥ "3t &1 Tiaard! Xeg HH-1 52
Options :

1. % Mgl

2. ¥ 3R



3. % W
4. % Y

Question Number : 86 Question Id : 59445944216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=foRed o ¥ 2reg & g TU(@dHT) BT 98 Piford-
Options :

1. % oIAfdD

2. % YoHIdih

3. ¢ SHITdD

4. % JSIIdID

Question Number : 86 Question Id : 59445944216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrEfRad § 9 <1ea & Feg TU(GdH) DT T DITOTL-
Options :

1. % oD

2. % I[oHIdID

3. ¢ SHIde

4. % INHdID

Question Number : 87 Question Id : 59445944217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FAfARId O ¥ "SR BT [9dm 2eg D 1F-91 52
Options :

1. ® TSI

2. % TfgehT

3. % PHoha



4. ¢ Jeften

Question Number : 87 Question Id : 59445944217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frfifed & § "wdh e &1 3y Wee HH-91 82
Options :

1. % TSI

2. % g

3. % Hobad

4.« It

Question Number : 88 Question Id : 59445944218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fa T g & fo e o 9 U Uee 1 99 PIfvT-
fohell & TR B ISHR TSI BIHI-

Options :

1. ¢ AR
2. % 3fdid

3. % 3RU
4. % 3frefaan

Question Number : 88 Question Id : 59445944218 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faw 7T areizr & o1 A © T T Treg BT T8 PIOTT-
fohell & TR B ISHR WST BIHI-

Options :
1. % T




2. % 3fefia
3. % Ry
4. % 3fTefaan

Question Number : 89 Question Id : 59445944219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrfefed & § aTe "grerdrd Sgiun A Fus! <Eia gamn|” f5g SR H1 IaER0 87
Options :

1. % GHEIYT PRSP

2. % 3fYPHU HRD

3. ¥ BUBRD

4. % 3UIql- HRP

Question Number : 89 Question Id : 59445944219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fr=faRad & T 91 "grexard 9870 A ! s Iar | fd HRE &1 30l 87
Options :

1. % GIEIYT HRD

2. % 3{YPRU HRD

3. ¥ U SRS

4. % AHUIgH ®PRD

Question Number : 90 Question Id : 59445944220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fATAfIRId o 9 gicwivT Xeg BT Ig- BHifort-
Options :

1. % RO

2. ¥ Hsd




3. % Ol

4. % 9B

Question Number : 90 Question Id : 59445944220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
PreiiRe & & g g @1 9 AR
Options :

1. % TRUIfcTeT

2. ¥ Hed

3. % ol

4. % 93F

Question Number : 91 Question Id : 59445944221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ffoad & @ SH-91 a1e g a1 T8 72
Options :

1. % 3o &= Urer & =1 81 |

2. % T P G W TS HIAT 967 AT

3. ¢ g9 YeaM U™ oA | 3w el

4, % AHIAT H 3P UHR P UADIE ¢ |

Question Number : 91 Question Id : 59445944221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fefoRed & @ oH-91 aTe Y 91 81 82

Options :

1. % 3MYP S UTpR H 4=1 81 T

2. % T P TG IR T HIal 967 AT

3. ¢ g9 YN U &1 H 3/ ga 87|




4. % APIAT § 3P UHR P URADIL G |

Question Number : 92 Question Id : 59445944222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feTferRad o U 91 & UbR b1 TG DT

HR = 791 SUUE BIST!
Options :

1. ¢ SHgard

2. % HHATT

3. % JHHATH

4. ® Y[ddrg

Question Number : 92 Question Id : 59445944222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFEfaRad ¥ 9 9= & UHR BT I9-9 BHIToTe-

HRT A 791 ITIE Bl
Options :

1. ¥ Hgar

2. % HHATT

3. % JHHaArH

4. % H[qdrg

Question Number : 93 Question Id : 59445944223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fr=ferRad & I gerarT »oie ugh & ST &1 3 3 72

Options :

1. % RIS g



2.« §gHId H AT
3. % HIETE! SR HRAT|
4. % gHSI gHTI

Question Number : 93 Question Id : 59445944223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frefoRad o & geravT i ugt § ST &1 31 g2
Options :

1. % RIS g1

2. ¥ §gDId H S

3. ® BTSSRI BT

4. % gUS BH|

Question Number : 94 Question Id : 59445944224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=fafeaa § O fog Aeifad o1 erf 9 3 fod &1 sRAM IR Y gar 82
Options :

1. % 3N od el SNl (e Al |

2. % 3 g1y 9 Ui WIgT|

3. % 3MU Y gRUSH P! 3fic T U |

4.« 313 T g Tt It

Question Number : 94 Question Id : 59445944224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e o @ fow Meifad o orf 19 J fad o1 sRAH IR e gar 82
Options :

1. % WA FusT S Fea I ATH|

2. % 3 1Y 7 Ul UTgT|



3. % 3T Y ERYSH P 3fied @ Hu |
4.« 313 T &g Tt It

Question Number : 95 Question Id : 59445944225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= few e arem | = § § fog faeg &1 v far mar g2
FUR B 2P A Tsg & &l UhR Bid g:- IRl wd sifgasri|

Options :

1. % Srgfarm fog Ud yuifR™ faeg
2. % iR g Ud guifor™ forg
3. ¢ faaRur g vd guifar™ g

4. % IGRU g Ud srgform forg

Question Number : 95 Question Id : 59445944225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I few e gt & =1 | 9 forg fieg o1 v o 82
FUR &1 2P I U & &I UBR 8l - PRI Td 3ifadri|

Options :

1. % ffaxH g ud guifrm forg
2. % 3(eUfaRT g Ud yuifoR™ g
3. ¢ faaRur forg wd quifor™ g

4. % IGRU g T4 3o s

Sub-Section Number : 2
Sub-Section Id : 5944592052
Question Shuffling Allowed : Yes

Question Id : 59445944226 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No



Question Numbers : (96 to 100)

frEfRiRed e &1 eYde e B U & Ik AT

T T AT ST & o TRERT 31§ d & Gt SaR-faemr} &1 omma g | vt R aTd IR &g < 91Tl 8 | Siafe T a8 8 fb
TR Wi T TR Uik Y G 8 1 TRERT BT 31 8- U A e I, GHX A AR b1 T30 S aTell 36 | IR URERT 9 89 a1 Sfdtd
TE! UTed BT | SeT PR R, ©edl, Seadl U U 811 ¢ | SUD YR TR g 31 $i Sia--UGld B U &d g | T THR URERT
&1 31 faxLg 3rciid 181 g | 98 U AR TifaRfier Siidd uforan 81 TaT IR URERT SR IadT R Syl

2 & GHMIGR SNYAdrdl &1 31 FT had THT TTUe 32 39 YT S $© § 1 dat MYAH g2 U1 T8 o | 87 SRR W7 & b $S 1a
T AT U € SN S1YFAd a1 € dfch ALHIEH & | avdd: TS A 3fgHal gR1 f5H T8+1a Jedl &1 Suasy fha g, 3= ¢ Ye | ¢
&1 =Y SYFIhal g1 U8 T Tasiia Ufsha g1 UaH dad 36 § Hifd 3 IRl ¥ T Y SR 7T 0T aH 8id TG 51 78
Hmﬁﬁsﬁvﬂ%ﬁwqﬁqﬂaﬁﬁmm@%lwgﬁwmaﬁw%mﬁﬁ%a{@aﬁ,ﬁ@umm%mmmﬁ
Zqfery Sifg® g

13 ot Yfes faaR omae & 78 U1 811 8 | Tadh! ol TRERT H TeXT8 b T8 65 & | Jax 9 Yex dl I8 &ral Ta! & Ihdl ¢ [ 98
U 9 T 1 & HRUT 3T UHeH e ¢ | SH UHR Bis off MY R I8 <1aT 8! S ahd] [ a8 IRERT 9 el g3 g | H-
HROT S T T, SMYR-3MYT & TF T TRART D1 T YR 37ciid H el ddb, 9gd TexTs ab 78 85 o

Sub questions

Question Number : 96 Question Id : 59445944227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfaRad & & Sufad TR &1 Ifd RS DF-1 57
Options :

1. ¢ 3MYFHdr Td TRART H IRER ffafes~ Jae g
2. % TRERT o gWROH|

3. % 3NYHBAT & g1 G|

4. % JYFIHAI Td Sl

Question Number : 97 Question Id : 59445944228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST T & TR “IRERT &1 31 F= o 9 g2
Options :

1. % el &1 iRl & did g1 dTe oo |



2. % $Had gl Afgar3 & o1 g 9Tl d-e |
3. ¢ U U QIR DI, GO I e B! a1 ST arelt A |
4. % U Ao ol gax Afad I forddt Ut 9% &1 3aH-UaH 8t dxA1l

Question Number : 98 Question Id : 59445944229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SUad TR & IR el U TiaRiTa ufshar § Fiifds
Options :

1. % JH &1 faepr Ra4- uforar &) H1ft geaar 181 8 |

2. % JHg A g

3. % U THIS & 916 GIR] THTS & [dhT graT 8 |

4. ¢ 1 &1 fae fIwa4- ufshar & fFROR deadr |ar g

Question Number : 99 Question Id : 59445944230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ffafed o ¥ wH-a1 Weg «snyfe” o fadim weg 32
Options :

1. % 3=

2. ¢ UrEiH

3. % gaAE

4, % Id-

Question Number : 100 Question Id : 59445944231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST T & e H HH-I1 By T T 82

Options :

1. % 313 Hl Syfe faR SemT & 181 UaT 811 ¢ | Iah! 1 URFRT H T8RS b 718 8% o
2. % TRURT & 3 §-Ud Y gUR &I, ORI IR DI a1 S arer 64 |

3. ¢ Fex Y reR Bl Ig STaT Bl & 6 98 U T 819 & BRI ST UheH T 5|




4. % qIA: AT A SIYA! gRT o TTe-1a Ji &I Iuasy fordlT g, 36 ¢ e & <@ &1 2fF snydhd gl

Question Id : 59445944226 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)

frEfRiRed e &1 eYde e B U & Ik AT

T T AT ST & o TRERT 31§ d & Gt SaR-faemr} &1 omma g | vt R a7d IR &g & 91Tl 8 | Siafe S a8 8 fb
TR Wi T TR Uik 1 G 8 1 TRERT BT 31 8- U A GER I, GHY A AR I T30 S aTell 36 | IR URERT 9 89 a1 Sfdtd
TE! UTed BT | SeT FReR R, @edl, Seadl U U 811 ¢ | SUP YR TR g 3 $i Sia--UGld B U &d g | T THR IRERT
&1 31 faxLg 3rciid 181 g | 98 U AR TifaRfier Siidd uforan 81 @aT IR URERT SR IadT R Syl

23 & YHMIGR SNYfArdl &1 31 FT had THT TTUe 32 39 YT S $© § 1 dat SMYAH g2 U1 18 o | 87 SRR 1 § b $S 1
T AT U € S S1YFAdh a1 € dfch ALHIE & | avdd: TS A 3fgHal gRT 5 T8+1a Jedl &1 Suasy fha g, 3= ¢ Ye | ¢
&1 =Y SYIhal g1 U8 T it Ufsha g1 UaH dad 36 § i 3 IRl ¥ T Y SR 7T IdTe aH gid TG 51 718
Wﬁﬂ%ﬁwqﬁqﬂaﬁﬁmm@%lwgﬁwmaﬁw%m@ﬁ%ﬂaﬁ,ﬁ@umm%mmma
Zqfery Sifg® g

13 ot Yfes faaR omam & 78 Ul 811 8 | Tadh! ol TRERT H TeXT8 d T8 65 & | Jax 9 Yex dl I8 &rdl Aa! & Ihdl ¢ [ 98
U 9 i1 g & HRUT 3T UHeH e ¢ | SH UHR Bis off Y R I8 <1aT ! S ahd] [ a8 IRERT 9 el g3 g | H-
HROT S T T, SYR-3MYT & TF T TART D1 T YR 37ciid H el ddb, 9gd TexTs ab 78 85 o

Sub questions

Question Number : 96 Question Id : 59445944227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfaRad & & Sufad TR &1 Ifd RS DF-1 67
Options :

1. ¢ SMYFHdr Td TRART H IRER ffafes~ ¥ee g
2. ¥ TRERT o gWROH|

3. % 3NYHDBAT & T G|

4. % JYFIHAI Td Sl

Question Number : 97 Question Id : 59445944228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

SUa TRITRT & IR “IRERT &7 3 = A /g2

Options :

1. % ad &l fkidl & s g1+ arell A |

2. % PHad <l A3 & s g dTell de |

3. ¢ T Y G I, gUR U AR ! fean S arefl shH |

4. % Uh fdd D1 gOR fad F bt it 9% o1 SEH-USH 8! BTl

Question Number : 98 Question Id : 59445944229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S I & STHR SNYehell Tab TaRitel Uichal § HiTdh

Options :

1. % 3 &1 A - ufshar &1 & dedar 7l g
2. % gHY AN B

3. % U TUIS & d18 GI! THTS &1 fahr grar 8

4. ¥ I &1 faeg fama=- ufehan &) FARAR sead w|ar gl

Question Number : 99 Question Id : 59445944230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & @ 1.1 Iee <3y &1 v sg 22
Options :

1. % 3

2. ¢ UrEH

3. % gaqH

4, % Id-

Question Number : 100 Question Id : 59445944231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST T & e A -1 HU I8l el 82



Options :

1. % Big U oy faaR Smem™ & =181 U1 81d1 ¢ | Fadh! oIS URERT H TT8RTs @ 715 68 6|

2. % YRERT FT 3 B-UH U g PI, TR I AR B! a1 S arer svH |

3. ¥ TR ¥ Gk Bl I8 &1a1 Rl § b 98 U 9 = 81 & BRI I TheH e g

4. % T G 7 Ml gRT FF Te-g gl o Suatsdl fpan B, 3= U o & T &t =Y ey 21

Disciplinel
Group Number : 6
Group Id : 5944591037
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Disciplinel
Section Id : 5944591762
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5944592053
Question Shuffling Allowed : Yes



Question Number : 101 Question Id : 59445944232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

[ I 3 v . . H - = T
o s ) Sl (S ke cm et S daidl e alal s

Options :

1. % iZemd

2&5";}"&

Question Number : 101 Question Id : 59445944232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Q - £ ok ' . H - = L
Tom S ol Sl (S U ot (S Jaddl e a2 s

Options :

1. % Zad

2@5"*.."‘&

Question Number : 102 Question Id : 59445944233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Options :

1Lv O38

7 ® bl

lljw_l'n X
- | S

Question Number : 102 Question Id : 59445944233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Options :

| 3
o ® o 1|
3 LY N

lljw_l'n ""Ll'lll-\'a..
- | gt

Question Number : 103 Question Id : 59445944234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3 — '.i Cilda ~___._.'."nll _}.ﬂllél. LS -...'J_I'. JL.-Q. oz



Options :

Question Number : 103 Question Id : 59445944234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
41 — '.i _;|Lu:. u..;."n'- _‘;.an_"- = n.-..'..LI'. JL.-._“'- s |
Options :

2. ® e

4. .L-“_;.E _g_']....'d

Question Number : 104 Question Id : 59445944235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
?Il j:' ._...5 _}i\-ﬂ-‘ lh:;\_;h —— —i, -
Options :



28]l s puimn

) adl & yaina
3 ® e pan

4, R e D paa

Question Number : 104 Question Id : 59445944235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
?Ilj:' f._...i J13I-H- PS\_;L J‘.—H\-\;'II;.

Options :

| s ARl s

) adl & yaina

3 8 = D

4, R e D paa

Question Number : 105 Question Id : 59445944236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
! = PLEPRIES S g )
Options :

| ¢ j\_ld.llll-_“'-ﬁ



) w Bllae s
3 s WSS sl e

g w eallie sde

Question Number : 105 Question Id : 59445944236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
! = PLEPRSES S g )

Options :

| ._i_n Al e @
o w Ballae il

3% NS s

g ow el e 55l

Question Number : 106 Question Id : 59445944237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

(opidy < 4

Options :
1 0371938



5 % =59-1930
; x 0¥¥1935

4 % 251940

Question Number : 106 Question Id : 59445944237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tmpildy S JE

Options :
R4 0%Y1938

5w =59-1930
;% 0%¥1935

4 % <3 £1940

Question Number : 107 Question Id : 59445944238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PP 11 L T RN i g L

Options :

13-5 5'.;"5:..-'

) v s



Question Number : 107 Question Id : 59445944238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Options :
1 B 5'_}5:'1 Ju.dl:_'.‘n.ni

3.0 %~

4. B raia

Question Number : 108 Question Id : 59445944239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B mn Rl ok . G

Options :
1 % P .

x4 B

3.8 Sk



4. 8 e

Question Number : 108 Question Id : 59445944239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P e Bl o L
.:-_l_s.c.daumuj__f__#ﬂ:l:_;_

Options :

2. BES
3.8 Sk

4. ® o e

Question Number : 109 Question Id : 59445944240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
: o _;..a.a.la_'u___j.,:_g.‘.:- i ol 2 e ;ﬁ;l_a!._llhplrl-.'_;ll:lm&ﬁ.:)-ﬁ-
Options :

v omn e s lgn slalll a2

2:;,.5 I"'}"E‘_.-d:_p!l.::.]"



4‘ w \_-'d"'l -:5 el

Question Number : 109 Question Id : 59445944240 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Oé‘_;u.a'_‘..#ﬂ_;j.'a_}]@ u;nﬁa)j'-_,,_;)psfi'_*,_;.Ju1mﬂ?.n

Options :

| @ e et 5 g plalall

22,.5 I".'}"f‘_.-d:_,r'l.::ﬁ

3 % o

—

4 w u-"':"a — l_-:'ﬂ"—l .-5

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Question Number : 110 Question Id : 59445944241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

,

L
) | A i

Options :

S

4. % :55'1"—'-



Question Number : 110 Question Id : 59445944241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T gl S ol 15
Options :

Y-

ks
3. e J:-r_‘:‘.a’

4. % :55-1"—'-

Question Number : 111 Question Id : 59445944242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tl Sl S panife Slpawld
Options :

1. % ol



Question Number : 111 Question Id
Orientation : Vertical

: 59445944242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
T2l e Sl S0 penSe Slpa

Options :
1. ¥ o=t

-t b

2.4 &

g4 % Bl

Question Number : 112 Question Id
Orientation : Vertical

: 59445944243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

Options :

1.'.;,.5 N ALK

Question Number : 112 Question Id

: 59445944243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

e B uSne gaxa gy 1S gildl S diay
Options :

0 ® "'E‘:‘n.?)ﬂ
3 5% ._|.‘_;|||j

4. & BI 8-

Question Number : 113 Question Id : 59445944244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
et LS unda 1S o & glity alped Al
Options :

| % Lolgs & it GBA S g S5

R LS injs\;*:-ﬁﬂf-_é_;jﬁ)ﬁ1umf__ﬁdjg 5 e
LIS Al IS gl g g

=]

4 % UgSa el

Question Number : 113 Question Id : 59445944244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
et LS unda 1S o & glity alped Al
Options :

| % Lolgs & it GBA S g S5

h o BSOR Seedhl (S g S ahie Sl
LIRS Al 1S gy g g

4. ® LilgSa ol 4 20

Question Number : 114 Question Id : 59445944245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :
| e



Question Number : 114 Question Id : 59445944245 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :
| b e

Question Number : 115 Question Id : 59445944246 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

-5 e Sy Gde "
Options :

i il 3 i I'i "\ ~ X i

1 all % .a
iyl _;)bs..ldj_

3 S e e sl el

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option



4.% = SIS sulfe S i S sl

Question Number : 115 Question Id : 59445944246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P s e Aoy e )
Options :

v m L L,

Question Number : 116 Question Id : 59445944247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
=S

Options :

e s



Question Number : 116 Question Id : 59445944247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
(=S e

Options :

| s

Question Number : 117 Question Id : 59445944248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fom eS8 Sk

Options :

1o



Question Number : 117 Question Id : 59445944248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fom s S _Sail
Options :

1 . \."‘/ - II.I: -1|

Question Number : 118 Question Id : 59445944249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f =Sl

Options :

1 ® o =
2. W Ui

3 % |

Question Number : 118 Question Id : 59445944249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
¢ o LS
Options :

[ B
1 8®8 3=

9. o Ujmas

3 8 P

Question Number : 119 Question Id : 59445944250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oSl pw oS el s |l
Options :

2, ¥ (=3

3 e

4% S

Question Number : 119 Question Id : 59445944250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TS lle (e S diely g2 o n | e
Options :
] % ol

2. o o=

3. % b

4. % S

Question Number : 120 Question Id : 59445944251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Options :

- | s
1. 3% AR Al g

4@ St

Question Number : 120 Question Id : 59445944251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
E: '_l]_‘i.u.ju _95 _J—<;£!'“ 5 _):-'n...h.



Options :

. |y
1. % AF R i g

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Discipline2

7
5944591038
0

0

No

No

0

20

No

Discipline2

5944591763
1

Online
Mandatory
20

20

20



Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1
Sub-Section Id : 5944592054
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 59445944252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
=S e sel

Options :

1. &8 ~Sa

7 ® A=

Question Number : 121 Question Id : 59445944252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS st

Options :

. ®8 ~Sa

7 ® A=



e

Question Number : 122 Question Id : 59445944253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fom B S0 —ad S sl n S e s gL
Options :

L O®

Question Number : 122 Question Id : 59445944253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Cop 8 S ad S i 0 S e s EL
Options :

1.« g
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Question Number : 123 Question Id : 59445944254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

| % S
2 %
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Question Number : 123 Question Id : 59445944254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 124 Question Id : 59445944255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Options :

L

Question Number : 124 Question Id : 59445944255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Options :

| ® Ll

Question Number : 125 Question Id : 59445944256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Question Number : 125 Question Id : 59445944256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
?Inl:ju J_Jla_‘l‘h : H-..E _;Inr‘_'l‘ﬂ :th_.l IE J..".J:lll
Options :

v Hhdina sl
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Question Number : 126 Question Id : 59445944257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® _'?‘:'I-.'TI F‘—h: ~.3-"'=-'-

5 o Ak e e

e k. 1

4. % S S

Question Number : 126 Question Id : 59445944257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
At 1S WS B g Ly S Akt
Options :

[ % sl addhe Jye

5 o AR e e

.. i, 1
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Question Number : 127 Question Id : 59445944258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 127 Question Id : 59445944258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
¢

= oS ale aml St o ad ae foz g
Options :
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4 % #EJE

Question Number : 128 Question Id : 59445944259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

¢ eyt L 5 R | R g i SO | R

Options :



Question Number : 128 Question Id : 59445944259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

[ w o LTI | ] . - 1 1 "
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Options :
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Question Number : 129 Question Id : 59445944260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Options :
|



Question Number : 129 Question Id : 59445944260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o eSS

Options :

I e

Question Number : 130 Question Id : 59445944261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Options :
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Question Number : 130 Question Id : 59445944261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
“,,.__,__..,Sl_‘t. B ppal g pgald S add S

Options :
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Question Number : 131 Question Id : 59445944262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
= lgeds S S S s

Options :
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Question Number : 131 Question Id : 59445944262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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RS Al
= or
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Question Number : 132 Question Id : 59445944263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
E: i |8 5 e ld g | WS ol

Options :
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Question Number : 132 Question Id : 59445944263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

':@‘EJPH‘GA_)S"...-'

Options :
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Question Number : 133 Question Id : 59445944264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 133 Question Id : 59445944264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 134 Question Id : 59445944265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 134 Question Id : 59445944265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
le o e e 1S a0
SR el e s 2

‘?’,.__ = ‘_'-..E el i

Question Number : 135 Question Id : 59445944266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
§ = e il == Al
Options :

1.8 &5

Lt
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Question Number : 135 Question Id : 59445944266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Question Number : 136 Question Id : 59445944267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
? : 'ill'. :': é g ll_a.lll-:]TI .-;«.'II_H_I‘ "

Options :
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Question Number : 136 Question Id : 59445944267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
? —dual S WS a3l Al v
Options :
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Question Number : 137 Question Id : 59445944268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 137 Question Id : 59445944268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® ..555"1",1'-'
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Question Number : 138 Question Id : 59445944269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 138 Question Id : 59445944269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 139 Question Id : 59445944270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 139 Question Id : 59445944270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 140 Question Id : 59445944271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 140 Question Id : 59445944271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
Rt
i

2. H

3 ® e

4 % &I
Discipline3

Group Number : 8

Group Id : 5944591039

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline3

Section Id : 5944591764

Section Number : 1

Section type : Online



Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5944592055
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 59445944272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Options :

e

) EG,:J".:- sl

- Wy
3 % SIS L e

Question Number : 141 Question Id : 59445944272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Options :

xS e Ao
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Question Number : 142 Question Id : 59445944273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
¥ — 'i et 18 g _)l

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. M) B S

3. Lo S 5 pbe

s el L gk
4 ROsES S e

Question Number : 142 Question Id : 59445944273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1 : '.j ._n.a.m < j_" Jlu



Note: For this question, discrepancy is found in question/answer. So,this
question is 1gnored for all candidates.
Options :
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3. S S 5 pl

dsd o aelh Ly aaks
4 DROSFS S

Question Number : 143 Question Id : 59445944274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
® e i S ) e S S ASle
Options :

1 ® =8

Question Number : 143 Question Id : 59445944274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
"-".__l e _J*-':-._,'-'E' 3l e .; ‘_,.f.I;‘I' A
Options :
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Question Number : 144 Question Id : 59445944275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tlgo e S i 15 ) )l 5L
Options :

-

1. ¥ SF

Question Number : 144 Question Id : 59445944275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Question Number : 145 Question Id : 59445944276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tt 2 e S Apa 0S8 g syl
Options :
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4 % e el st

Question Number : 145 Question Id : 59445944276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B e B



Options :
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Question Number : 146 Question Id : 59445944277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
F b OF5 e S A
Options :
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Question Number : 146 Question Id : 59445944277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
F ot Of e Sl Al
Options :



Question Number : 147 Question Id : 59445944278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tom 8 ) e Sanal gt o pf s el S
Options :
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Question Number : 147 Question Id : 59445944278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tom 28 ) s Samal p st e pf e el S
Options :



Question Number : 148 Question Id : 59445944279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 148 Question Id : 59445944279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

ik T



Question Number : 149 Question Id : 59445944280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 149 Question Id : 59445944280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

§ =S a5 amall L sl

Options :
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Question Number : 150 Question Id : 59445944281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS s e s
Options :
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Question Number : 150 Question Id : 59445944281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS le g
Options :

¥ s
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Question Number : 151 Question Id : 59445944282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i I1-"'| .1,
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Options :
1.8 &F

2. & i

Question Number : 151 Question Id : 59445944282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 152 Question Id : 59445944283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
’*‘,__LE.& g S LS LS

Options :
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Question Number : 152 Question Id : 59445944283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S LS pinge S LS s S
Options :
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Question Number : 153 Question Id : 59445944284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 153 Question Id : 59445944284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
S s Bl

1. =

2. % U 3l



Question Number : 154 Question Id : 59445944285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tom Sy el _uciia o€ T8 Aale
Options :
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Question Number : 154 Question Id : 59445944285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 155 Question Id
Orientation : Vertical

: 59445944286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
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Options :

| =

). ® UF

Question Number : 155 Question Id
Orientation : Vertical
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: 59445944286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 156 Question Id

: 59445944287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

f LSS Yy S al
Options :
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Question Number : 156 Question Id : 59445944287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f o E s Yy 28 e

Options :

L Fu

Question Number : 157 Question Id : 59445944288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 157 Question Id : 59445944288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T el dlg g2 S gk pudl
Options :
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Question Number : 158 Question Id : 59445944289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



Question Number : 158 Question Id : 59445944289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 159 Question Id : 59445944290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 159 Question Id : 59445944290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
? i S 55l o Fe B e
Options :
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Question Number : 160 Question Id : 59445944291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 160 Question Id : 59445944291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Discipline4
Group Number : 9
Group Id : 5944591040
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No

Edit Attended Group? : No



Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline4

Section Id : 5944591765

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 5944592056

Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 59445944292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oA S upbp paly jladl S ade ol

Options :
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Question Number : 161 Question Id : 59445944292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 162 Question Id : 59445944293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS & gt o€ jhosoe BLISp ) 5 el Sl g0l
Options :



Question Number : 162 Question Id : 59445944293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS & g b oS jiusuo WL SpUE ) ¢ Gl Al g3 )
Options :
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Question Number : 163 Question Id : 59445944294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T deala fia il o€ o oS e S L S 0
Options :

Question Number : 163 Question Id : 59445944294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
L i

Options :

Question Number : 164 Question Id : 59445944295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e S an 218 s 5 8 e S sl e s
Options :

. % 1965

» « 1988
3 % 1972

4 % 1990

Question Number : 164 Question Id : 59445944295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e S a0 S i 5 S e S el ke asla



Options :
1. % 1965

7 « 1988
3 #% 1972

4. % 1990

Question Number : 165 Question Id : 59445944296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
vuu. ;._'I.'LAE 1_'_-.__.‘:, g2 _;,'-
Options :

1% #E)

) o P

4. ® =)

Question Number : 165 Question Id : 59445944296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

?uu. ;_'l.'l'.-u_f.ﬁ 1_‘.-.__.‘-, = _JI'
Options :

1% #E)



Question Number : 166 Question Id : 59445944297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Plge oS L8 1S RIS ol g & o
Options :

|« 1800 el

5 % 1801 x4
3 % 1822 545

4 % 1819 56

Question Number : 166 Question Id : 59445944297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
% g2 oS~ Ll 1S =08 aglyg & g0
Options :

|« 1800 i}



5 % 1801 4
3 % 1822 55

4 % 1819 46

Question Number : 167 Question Id : 59445944298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘3: o & uﬁijﬁ e pealis ._g;'hﬂ'.'u'l éﬁ"...;. TP IO S
Options :

lé..sh..__‘-'-

2, ks

Question Number : 167 Question Id : 59445944298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
"1’_,__ =y ___Jijﬁ o pealic ._g;'hﬂl.'u'l é:_-""....-. e s | S
Options :

1 ® Aibdl

2. SRk



Question Number : 168 Question Id : 59445944299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Options :

| % Ll e a

5 bl e ,__1"

Question Number : 168 Question Id : 59445944299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Options :
Lolall e a

1. =

) o Bl e B



Question Number : 169 Question Id : 59445944300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
! el Sw S S Y s
Options :

1. ® oSS

0 ® e _Ji"','_.-la"'h"a':

3. ® el

Question Number : 169 Question Id : 59445944300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
{ ol 2 8 S el Y s
Options :

1. ® JxlS o S

BIPEN el

3. % Rl



4 LS 3

Question Number : 170 Question Id : 59445944301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
el Sl Saj S hﬂ"—“f_—:ﬁf-_—.zﬁf—:w-ﬁi
G A g oyl g e ol gyl o el SR o LS ) e el gl e guadia S S 8 SIS o
A e 8k i g ~fiﬁj‘—.'3‘-‘+~‘iji"~ﬁj£c—';ﬂ‘ir_iﬁ it Sl A SO0l Sl S8 |2 S et S s
S Bl Sl e Al U5 L S L 1S ol gl S0 Sl U U5 U o oS Sl e (S Sples 5 ol sl
KOS Jue i K Y G e al e 31 2 S i s ol S e pla U S sty iy sl € sale Jlarid

- LI I N | i T
__"._:l_ﬂ_':n n—n—ﬁ\—h—ljnhmrh‘_ﬂ_iﬁll 53 |3|.|_‘.w.1T

Fa

g — Uila Ll .Y ~._n_..l:_"h.'..~ Aw __._-:.l 5! Wl e
Options :
1.¥ O

% o1l

48 S S

Question Number : 170 Question Id : 59445944301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



e bl Seiles Saf o W K o s

LI A gl oo g e ol yg g il o o) (Sl - LS 5 e i gl e e pemdia S S 5y SIS 5
it e Sk sk Al ) T B Uy i S e b Sl A S0 Sadal S el A S Sl Sl
S By 58 Al e Al 5 S Ll S ol 50 S0 oS il L U5 i o 5 Sl e S0 (S6las 5 ol ol
Bogn 5 du S Y 5w el e gl 0 S ey o Sl S gale - nla LSy Slaty sl € gale Jlesind
- I T oUalbectlaboan o @Y on

¢ = W Wi oS ldsalean ) @Y1

Options :
1.¥ o5

. ® o 10
3 % o1l

4. % == ==

Question Number : 171 Question Id : 59445944302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
¢ iR S S ol S ) S
Options :

= LT SIS



Question Number : 171 Question Id : 59445944302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T o U5 B LS S gl o D3R 03158
Options :

PP LTSIV

Question Number : 172 Question Id : 59445944303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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A meor o Sl

"ok S oS s rus Sk
Options :

1. & uﬂ-.‘il'

7 % S g gl sl
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4 % j:..... (il

Question Number : 172 Question Id : 59445944303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

LU s Sl oS

TS 2T S S e

R s S e S

" S O 3g) x o S

T B A i S8 i
Options :
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7 % Bl gyl gl
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Question Number : 173 Question Id : 59445944304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
§ = LS Sy s S Jaal

Options :

1.« 1877

, % 1818



3 % 1875

4 % 1775

Question Number : 173 Question Id : 59445944304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
? = LS Sy G S LS

Options :

1.« 1877

, % 1818
3 % 1875

4 % 1775

Question Number : 174 Question Id : 59445944305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
"ol At 5 e S pn e
Options :

| CHld aile
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y w Jmeslls S S
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Question Number : 174 Question Id : 59445944305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
"ol At g e LS s e
Options :

| o CHuls aile
1 Vi bt | a2
7 ® LIRS
y w Jmslls S S
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Question Number : 175 Question Id : 59445944306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o S oS e R

Options :
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Question Number : 175 Question Id : 59445944306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
oS S e
Options :

v JE e
P AR |

3 8 e A e e

Question Number : 176 Question Id : 59445944307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS A ) oyl addalloe
Options :

| v IS
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Question Number : 176 Question Id : 59445944307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Options :

| v IS

) % o

3. 8 JH

4. 8 8

Question Number : 177 Question Id : 59445944308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fop S EwoValiohs) S fe e a
Options :
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Question Number : 177 Question Id : 59445944308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fop 2 S Um eV lislg) (S i e o
Options :
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x4 PP | )5‘._.
3. u .‘\-ﬁlidl' Jll.ju\-.
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Question Number : 178 Question Id : 59445944309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
§ A s S paling _;;n.i_n P B Pg PERRPEY

Options :
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Question Number : 178 Question Id : 59445944309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

":': A gan 1S Cpaling _;_n.Ln ,._ﬁ Ll oz dasal
Options :
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) ® gl gl s

3 v S5 sl i

4. & S

Question Number : 179 Question Id : 59445944310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T adlid] 1S S " o A

Options :

1. % o A8

Question Number : 179 Question Id : 59445944310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
T il S i o A

Options :

1. ® ,-—‘?Ji)s

Question Number : 180 Question Id : 59445944311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS ald lay eadl _—wogled S WS 330 ) eea d2aa
Options :

Question Number : 180 Question Id : 59445944311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Discipline5
10
5944591041
0
0
No
No
0
20
No

Discipline5
5944591766
1
Online

Mandatory
20



Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5944592057
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 59445944312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
(oS S SIS sl 5 ) 2 e K g
Options :

1. % '—'-L' o3l B b
5 % ~lse
3 \.-'/ ';']_)-’-n:‘ ;le

4 % :')S"-_':'S.‘_gﬁ'-..ll

Question Number : 181 Question Id : 59445944312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
(oS S SIS sl 5 ) 2 e K g
Options :

| x S5 g el )l

5 % e



3 o ¢-.|_J.'I‘-n:u\;||5_"

4. % *)SEIE‘JFIJ

Question Number : 182 Question Id : 59445944313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
? IS e peae S jladl S e
Options :

T R
.o TS

2. 5 Al __,5....

3 % e j Yl

» WELRA

Question Number : 182 Question Id : 59445944313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TP LT PP VECHE S P R U

Options :

T B
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. PRETRAE
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Question Number : 183 Question Id : 59445944314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fonoUS jglScddy S ol Y1 s
Options :

| % 11920 x5S

5 % 8 AT 1021 jew7
3 % e 1921 pewn7

4 o H1A11921

Question Number : 183 Question Id : 59445944314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fopubsS jgl S liy S cald Y1 S
Options :

1 = 1920 resiyall 6

5 % 8811921 paw7

3 % e 1021 a7



4. A 1921

Question Number : 184 Question Id : 59445944315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

,-—"E—“-gs_.--.‘._.ﬂ"ésf—)_; —=
‘—"-‘;j..?'—',-* ,-—‘—i—“"'"]—d'é—‘
oS 2 pe s i

Options :

1.« sl JrANgn ¥

Question Number : 184 Question Id : 59445944315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 185 Question Id : 59445944316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

?: Ul '..:E & el W8 cas s

Options :

2. :‘”)'

3 = s.aﬂ-.‘il'

L

Question Number : 185 Question Id : 59445944316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

? Ul '..:E & el W8 cas s

Options :

R

3 = s.aﬂ-.‘il'



L

Question Number : 186 Question Id : 59445944317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

[« : el - N ia I '

Options :

1. ¢

HE L | e
Tyl g

4 % HF¥ g2 R

Question Number : 186 Question Id : 59445944317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

[« : el - § o |- a1 -



Question Number : 187 Question Id : 59445944318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

¢ SR B L ¥ LT DL SO L I |

Options :

n a4 i
1. #® S

Question Number : 187 Question Id : 59445944318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e ) i L P T o L ||

Options :
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Question Number : 188 Question Id : 59445944319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR LR L. Sk P LY

Options :
1o X o e LY g

Question Number : 188 Question Id : 59445944319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 189 Question Id : 59445944320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
C s U S s S BN e il S

Options :
by

1 % R

2. 8 S
3 % Al J_’:,'n_.'

4.« P |

Question Number : 189 Question Id : 59445944320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
C s U S s S BN e il S

Options :
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Question Number : 190 Question Id : 59445944321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fup O dage S g e ale
Options :
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)k S e
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Question Number : 190 Question Id : 59445944321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS S smgpeak
Options :
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Question Number : 191 Question Id
Orientation : Vertical

: 59445944322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

T S LS g SeS y Cadn ool e pmg e ale s e Lo

Options :
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SIS

3.%-5 5

IR
4 ® E

Question Number : 191 Question Id
Orientation : Vertical

: 59445944322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 192 Question Id

: 59445944323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

P b b iae Srfle JE 0y
Options :

L
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Question Number : 192 Question Id : 59445944323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A1 ’,._ll_.. ,:al_.l L I Y ,.j KI_-.ﬁ-_é;a _r;-'i_e. ."'.I_:'
Options :

L

Question Number : 193 Question Id : 59445944324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
fom alae S € S Bl

Options :

1.¢ 8

3 % 19

4 % 12

Question Number : 193 Question Id : 59445944324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T alaes 6€ € S Bl

Options :

.« 8

3 % 19

4 % 12

Question Number : 194 Question Id : 59445944325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TLS fy 5 S ag i 1S plaid S0 ) e oS0

Options :



Question Number : 194 Question Id : 59445944325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS e S S Selnd Se il w52

Options :
1 ® el e

3 o el el sl
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Question Number : 195 Question Id : 59445944326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

{l i III: | I. i ! -~ ~-II'\. 3 J'.

Options :
1 % ¥



Question Number : 195 Question Id : 59445944326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

L e i | a [ b
s w‘-_l_g"-"'a*n-'l_'—’_.h-'l__f

Options :
1 ® 3

Question Number : 196 Question Id : 59445944327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Options :

1. # =



Question Number : 196 Question Id : 59445944327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T o et e 5l S s
Options :

e

Question Number : 197 Question Id : 59445944328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f o oS Sy gdia S35 s dana
Note: For this question, discrepancy 1s found in question/answer. So,this

question is 1gnored for all candidates.
Options :



Jod 5

) Sl ol

Question Number : 197 Question Id : 59445944328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
§ i 8 S jgefia (S0 )] pes dang

Note: For this question, discrepancy i1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

Question Number : 198 Question Id : 59445944329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Ts O US i S )
Options :

2. % TF

3¢;E,¢J'L"-:~

Question Number : 198 Question Id : 59445944329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
L%

g S S 1 S g )
Options :

2. % ELF

3 e

Question Number : 199 Question Id : 59445944330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f2osa mp SES a S SR el el 2 )
Options :



Question Number : 199 Question Id : 59445944330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS e e ESSG T S S8 Al el ga )
Options :

| o Jus25

5 % Jws13
3 % Jw50

4 % Jws20

Question Number : 200 Question Id : 59445944331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R T [, T e | PR e L M| 3 .
sl LS g oS 0 e e

Options :
1 ® 1722
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3 8 R =81721
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Question Number : 200 Question Id : 59445944331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R U LR | af okl et A 3 :
I oslm oS g S e el

Options :
1 ® 1722

3w Skl =E1721

4 % 41411818
Discipline6
Group Number : 11
Group Id : 5944591042
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No

Edit Attended Group? : No



Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline6

Section Id : 5944591767

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 5944592058

Question Shuffling Allowed : Yes

Question Number : 201 Question Id : 59445944332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f oS S S an ) e (S0
Options :

1« —aieal S el Spall al

2 % Ry



Question Number : 201 Question Id : 59445944332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f oS S S ) e S0
Options :

L adaal S el fpall gual

) ® o e

3. % &_)-‘
4. # -_'J'”‘I'_.&"‘

Question Number : 202 Question Id : 59445944333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 202 Question Id : 59445944333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A S A S eSS R B
Options :
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3 & B .JS'I;
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Question Number : 203 Question Id : 59445944334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fo e Ao il S o g DSOS e dp s 5es
Options :

Question Number : 203 Question Id : 59445944334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
C o Fa b ol (S s 3 USO8 e de s 5eS
Options :

Question Number : 204 Question Id : 59445944335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
C oSl e S ol B0 sl 2l
Options :

| %
2. % KO

3.0 Tl ks
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Question Number : 204 Question Id : 59445944335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
R T s



Options :

1. % ._IEI bl e
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Question Number : 205 Question Id : 59445944336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S 5o oS aeld s S S S
Options :
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Question Number : 205 Question Id : 59445944336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 206 Question Id : 59445944337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 206 Question Id : 59445944337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



Question Number : 207 Question Id : 59445944338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 207 Question Id : 59445944338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 208 Question Id : 59445944339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 208 Question Id : 59445944339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 209 Question Id : 59445944340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 209 Question Id : 59445944340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 210 Question Id : 59445944341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 210 Question Id : 59445944341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 211 Question Id : 59445944342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

Question Number : 211 Question Id : 59445944342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



Question Number : 212 Question Id : 59445944343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 212 Question Id : 59445944343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 213 Question Id : 59445944344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 213 Question Id : 59445944344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 214 Question Id : 59445944345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Options :

Question Number : 214 Question Id : 59445944345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

.3 — Oy S S cdlae AL

Options :
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Question Number : 215 Question Id : 59445944346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 215 Question Id : 59445944346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Options :



Question Number : 216 Question Id : 59445944347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 216 Question Id : 59445944347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 217 Question Id : 59445944348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 217 Question Id : 59445944348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 218 Question Id : 59445944349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

Question Number : 218 Question Id : 59445944349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



Question Number : 219 Question Id : 59445944350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

Question Number : 219 Question Id : 59445944350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 220 Question Id : 59445944351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 220 Question Id : 59445944351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Question Number : 221 Question Id : 59445944352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Discipline7

12
5944591043

Discipline7

5944591768
1

Online
Mandatory
20

20

20

Yes

1
5944592059
Yes



Correct Marks : 1 Wrong Marks : 0.25
U S EE e

Options :

1 % Ol e

Question Number : 221 Question Id : 59445944352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
r"‘: _;JS J'Sua.....‘.:d = Y b

Options :

Question Number : 222 Question Id : 59445944353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



s hims IS LS (L S
Options :
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Question Number : 222 Question Id : 59445944353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1 ® ol

Question Number : 223 Question Id : 59445944354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Question Number : 223 Question Id : 59445944354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 224 Question Id : 59445944355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

Question Number : 224 Question Id : 59445944355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

Question Number : 225 Question Id : 59445944356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o e SIS S sl e
Options :



Question Number : 225 Question Id : 59445944356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 226 Question Id : 59445944357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 226 Question Id : 59445944357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 227 Question Id : 59445944358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 227 Question Id : 59445944358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
5 Spada S S e il g2 ) S e
Options :
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Question Number : 228 Question Id : 59445944359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 228 Question Id : 59445944359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tom it AT IO 1a s
Options :
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Question Number : 229 Question Id : 59445944360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 229 Question Id : 59445944360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ "‘.+"'!-1a,1'-‘ ‘—"35—""

Question Number : 230 Question Id : 59445944361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :
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Question Number : 230 Question Id : 59445944361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

? o IS ol S a0
Note: For this question, discrepancy is found in question/answer. So,this
question 1s 1gnored for all candidates.

Options :

Question Number : 231 Question Id : 59445944362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :
1, £d#

g,
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Question Number : 231 Question Id : 59445944362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :
| Sd@



Question Number : 232 Question Id : 59445944363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 232 Question Id : 59445944363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 233 Question Id
Orientation : Vertical

: 59445944364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
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Options :

Question Number : 233 Question Id
Orientation : Vertical

: 59445944364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
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Options :

Question Number : 234 Question Id

: 59445944365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

Question Number : 234 Question Id : 59445944365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Options :

T o

Question Number : 235 Question Id : 59445944366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



o g S el legee S o v
Options :
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Question Number : 235 Question Id : 59445944366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

R

Question Number : 236 Question Id : 59445944367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

i
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Question Number : 236 Question Id : 59445944367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 237 Question Id : 59445944368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 237 Question Id : 59445944368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 238 Question Id : 59445944369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 238 Question Id : 59445944369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T isalm S8 e S0
Options :
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Question Number : 239 Question Id : 59445944370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 239 Question Id : 59445944370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 240 Question Id : 59445944371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 240 Question Id : 59445944371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Discipline8
Group Number : 13
Group Id : 5944591044
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



Discipline8

Section Id : 5944591769
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5944592060
Question Shuffling Allowed : Yes

Question Number : 241 Question Id : 59445944372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o lad S U0 s aal 3
Options :

R B
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4 o slalall

Question Number : 241 Question Id : 59445944372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Options :
] % o

Question Number : 242 Question Id : 59445944373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 242 Question Id : 59445944373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 243 Question Id : 59445944374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
"SRR g e g e B e SO e e
Options :
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Question Number : 243 Question Id : 59445944374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



Question Number : 244 Question Id : 59445944375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 244 Question Id : 59445944375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 245 Question Id : 59445944376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 245 Question Id : 59445944376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 246 Question Id : 59445944377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
 oilial S 0 glldl e S ga
Options :
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Question Number : 246 Question Id : 59445944377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 247 Question Id : 59445944378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 247 Question Id : 59445944378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 248 Question Id : 59445944379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 248 Question Id : 59445944379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 249 Question Id : 59445944380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 249 Question Id : 59445944380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 250 Question Id : 59445944381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 250 Question Id : 59445944381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 251 Question Id : 59445944382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Options :
IR At

Question Number : 251 Question Id : 59445944382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 252 Question Id : 59445944383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 252 Question Id : 59445944383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 253 Question Id : 59445944384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 253 Question Id : 59445944384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Options :
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Question Number : 254 Question Id : 59445944385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

Question Number : 254 Question Id : 59445944385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
E: :—.'l.S“'“"r"."l"_; 5.;_)\
Options :

Question Number : 255 Question Id : 59445944386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Options :



Question Number : 255 Question Id : 59445944386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
- :.S [S f-_—",»‘s s el _/'5 LBl any »-_5 STRES _,._T.asl LAty S
Options :

Question Number : 256 Question Id : 59445944387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T =S g e
Options :

| % e D e
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Question Number : 256 Question Id : 59445944387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fettd 2 S s i g 5 gt
Options :
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Question Number : 257 Question Id : 59445944388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 257 Question Id : 59445944388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
funag s 3 & Wb oo i g 0 (e
Options :
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Question Number : 258 Question Id : 59445944389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 258 Question Id : 59445944389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f = asieal S S g
Options :

v

Question Number : 259 Question Id : 59445944390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 259 Question Id : 59445944390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
oS an SJ%
Options :
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Question Number : 260 Question Id : 59445944391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 260 Question Id : 59445944391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TSI s S oy e Slale Jpde S akl g ) o ead) S

Options :

Discipline9
Group Number : 14
Group Id : 5944591045
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



Discipline9

Section Id : 5944591770
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5944592061
Question Shuffling Allowed : Yes

Question Number : 261 Question Id : 59445944392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=lals = adl | gulS 5 old ga
Options :

L

==

4. % ..J—'-")-”‘

Question Number : 261 Question Id : 59445944392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

Question Number : 262 Question Id : 59445944393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
- _.;.ai'n:\. — Jasl '_E !
Options :

) % 3

4. B &F

Question Number : 262 Question Id : 59445944393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 263 Question Id : 59445944394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
{': ,:51d.| \___.5. _}5 "-"_'-..-..-'.Ill...-..- 3 _',I.:.‘."
Options :
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Question Number : 263 Question Id : 59445944394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



| % sl Al S|

Question Number : 264 Question Id : 59445944395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. #® il
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Question Number : 264 Question Id : 59445944395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 265 Question Id : 59445944396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 265 Question Id : 59445944396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 266 Question Id : 59445944397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
sl S e A e e afa
Options :
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Question Number : 266 Question Id : 59445944397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
sl S e e A e e afa
Options :
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Question Number : 267 Question Id : 59445944398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Options :

2 3 ﬂ;l:l.u&."'
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Question Number : 267 Question Id : 59445944398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 268 Question Id : 59445944399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 268 Question Id : 59445944399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 269 Question Id : 59445944400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e Jual 8 WK ",_]3'1..:.'.1"

Options :
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4. ® R e M

Question Number : 269 Question Id : 59445944400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 270 Question Id : 59445944401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 270 Question Id : 59445944401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 271 Question Id : 59445944402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 271 Question Id : 59445944402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 272 Question Id
Orientation : Vertical

: 59445944403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 272 Question Id
Orientation : Vertical

:l_ﬁﬁl_’._-_"_h‘Jm;I_IEEE_I#]‘-__‘:.‘_}JL

: 59445944403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

Q N

Options :
v

Question Number : 273 Question Id

f Lo lS o e 1S Su g8l S o

: 59445944404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fmdiele sl sl
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Question Number : 273 Question Id : 59445944404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 274 Question Id : 59445944405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 274 Question Id : 59445944405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 275 Question Id : 59445944406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 275 Question Id : 59445944406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 276 Question Id : 59445944407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 276 Question Id : 59445944407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 277 Question Id : 59445944408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Options :
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Question Number : 277 Question Id : 59445944408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 278 Question Id : 59445944409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 278 Question Id : 59445944409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 279 Question Id : 59445944410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e
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Question Number : 279 Question Id : 59445944410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 280 Question Id : 59445944411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 280 Question Id : 59445944411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Teaching Methodology
Group Number : 15
Group Id : 5944591046
Group Maximum Duration : 0
Group Minimum Duration : 180
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



Teaching Methodology

Section Id : 5944591771
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5944592062
Question Shuffling Allowed : Yes

Question Number : 281 Question Id : 59445944412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who defines education as the power by which man is able to control his environment and fulfill his possibilities?
Options :

1. ¥ John Dewey

2. # Jean Piaget

3. % Paulo Freire

4. % (Charles Sanders Pierce

Question Number : 281 Question Id : 59445944412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 282 Question Id : 59445944413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who said ‘Educationists should build the capacities of the spirit of inquiry, creativity, entrepreneurial and moral leadership among students and
become their role model’?

Options :

1. # Sir Syed Mohammed

2. ¥ Khan Abdul Ghaffar Khan
3. % AP J Abdul Kalam

4. #* Abul Kalam Azad

Question Number : 282 Question Id : 59445944413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 283 Question Id : 59445944414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not a quality of a good teacher?
Options :

1. # S/he should maintain order in the class



2. ¥ S/he should not be willing to experiment
3. # S/he should be organized
4. ® S/he should be strict and fair

Question Number : 283 Question Id : 59445944414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 35 Dall H AR §1T I AT
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Question Number : 284 Question Id : 59445944415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not one of the various approaches of cooperative teaching?
Options :

1. ® Parallel Teaching

2. % One Teach, One Observe

3. # One Teach, One Assist

4. ¥ Single Teacher

Question Number : 284 Question Id : 59445944415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafead ° 9 ®F TgaR! e & fAftrs efPoion § § ue 781 82

Options :
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Question Number : 285 Question Id : 59445944416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘I hear and I forget, I see and I believe, I do and I understand” — Whose quote is this?
Options :

1. ¥ Confucius

2. # Galileo Galilei

3. % Isaac Newton

4. % Johannes Kepler

Question Number : 285 Question Id : 59445944416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ SR
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Question Number : 286 Question Id : 59445944417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
as a method of teaching was developed by Tony Buzan in 1960.
Options :
1. # Microsoft PowerPoint Presentations
2. % Mind Mapping
3. # Video Projector



4. # Opaque Projector

Question Number : 286 Question Id : 59445944417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 287 Question Id : 59445944418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who had developed the Cone of Experience, also known as the Learning Pyramid?
Options :

1. ¥ Edgar Dale

2. % M J Langeveld

3. % JSMill

4. # Mahmud Yunus

Question Number : 287 Question Id : 59445944418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 288 Question Id : 59445944419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What should a teacher do if s/he sees a student exhibiting deviant behaviour?
Options :

1. # Observe the student further

2. ¥ Take immediate suitable action

3. % Don’t take action, let the parents take action

4. ¥ Rusticate the student

Question Number : 288 Question Id : 59445944419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 289 Question Id : 59445944420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the age-range of later-childhood amongst children?
Options :

1. # 47 years

2. # 5-10 years

3. % 6-12 years

4. # 10-14 years

Question Number : 289 Question Id : 59445944420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 4.79d

2. % 510 9Td

3. ¢ 6-12 919

4. % 10-14 919

Question Number : 290 Question Id : 59445944421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“The problem is not to wipe out the differences but how to unite with the differences intact”. Who had quoted this?
Options :

1. ¥ Rabindranath Tagore

2. % Bankim Chandra Chattopadhyay

3. # Ishwar Chandra Vidyasagar

4. % Rammohan Roy

Question Number : 290 Question Id : 59445944421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR, AANG! &1 e &1 781 §, dfcsh SRBIR AdWa! & a1 Hd o1 6" | I8 fbe- Sy fowam um
Options :

1. ¢ GG BTPR

2. % §fcbH I Igiuerg

3. % 39R 7 f9EmmR

4. % JHEAGAY

Question Number : 291 Question Id : 59445944422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Over the years, the term ‘Inclusive school’ has come to replace the term —
Options :

1. # Special school

2. ¥ Integrated school

3. # Parallel school

4. % Super-specialty school

Question Number : 291 Question Id : 59445944422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST, Yeg HGRN faeerd EaiRia Wod) [y Weg & UiaeTid o3 & foIe S g -
Options :

1. % o=y faerery (Werd W)

2. ¢ Thidd [Aey (SCRICS Wha)

3. % YHHAIGR faerea (Rad o)

4. % R WREfC fagrad

Question Number : 292 Question Id : 59445944423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following learning difficulties does the child while reading may omit, substitute or reverse letters or words?
Options :

1. ¥ Dyslexia

2. % Disgraphia

3. ® Dyscalculia

4. ¥ ADHD

Question Number : 292 Question Id : 59445944423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafaa o § fog dhen &) wf31s & 9= Ugd 9T 31eR] 1 Vg &) B1S Jobdl &, UfaRifid &% Tahdl § I1 Ide Iohdl 82




Options :

1. ¢ fSxifqaan

2. # fegtha

3. % feqdagpferdn
4. % TETES

Question Number : 293 Question Id : 59445944424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Dysphasia is the learning disorder in -
Options :

1. # Writing

2. % Calculating

3. # Playing

4. ¢ Language

Question Number : 293 Question Id : 59445944424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fETh T TRa- 1 fdPR © -

Options :

1. % @ H

2. % TUATH

3. % G |

4. VT H

Question Number : 294 Question Id : 59445944425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘Discriminatory behaviors take many forms, but they all involve some form of exclusion or rejection’. This stand was taken by -
Options :



1. ¥ WHO

2. % UNICEF

3. % United Nations

4. ¥ WHO and UNICEF

Question Number : 294 Question Id : 59445944425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

VeUTayuf FaER Fs FU A &, At 3 Gt & oot 7 forft =0 o afgswmrur an st nfia g1t 81 8 o1 farads gIRT &g T
Options :

1. % Sseguasdl

2. % gFAA®

3. ¢ UYHI Y

4. % SEYTIS 3R gAAB

Question Number : 295 Question Id : 59445944426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Gender discrimination can begin -
Options :

1. ¥ before the birth of a girl child

2. # only after the birth of a girl child

3. # only after the marriage of a girl

4. ® only after observing the academic-records of a girl-child

Question Number : 295 Question Id : 59445944426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT VU 3 81 JhdT © -

Options :

.V TH ASH H TH I Tga I




2. % Had UPH ASHI b o H & dlg I
3. % %Hdd Uh dSP! DI XM & oG I
4. % $HId TP SNAPDT & ABIGHD Rl Dl ¢ b d1G I

Question Number : 296 Question Id : 59445944427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not a status indicator of gender?
Options :

1. # Sex-ratio

2. % Education

3. # Participation in workforce

4. ¥ Maternal mortality ratio

Question Number : 296 Question Id : 59445944427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafifad o @ H1 i &1 fRufd gue (Rew ifiedar) T8 82
Options :

1. % feivT-31urd

2. % fRram

3. % HRigA | yrfieRt

4. HIJ g Jurd

Question Number : 297 Question Id : 59445944428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not true?

Options :

1. # Children start using language with fluency when they reach Class 10.

2. ¥ Teachers should focus on increasing the vocabulary of complex words in children from primary stage.



3. # Listening and speaking do not mean the mechanical activity of hearing and speaking but it also involves an equally important conceptual
process.

4. # Children spontaneously become proficient in their mother tongue.

Question Number : 297 Question Id : 59445944428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TTH Y B 1 T A B

Options :

1. % e 10 T Uga- IR I A1 YHR Y HIN T ITIRT HXAT e PR od & |

2. ¢ TTUe TR T g e o) 5= A Sifed Mol Pt sgaelt M R & &1 A

3. % g 3R I &1 Aaas - MR die &1 gifde Tfafafy Tel § dfew 39H T A ¥0 ¥ Hedqul da1ie ufshar +ft Tnfia ]
4. % g Td: €Y U HIGHIT H g8 8 o B

Question Number : 298 Question Id : 59445944429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Assessment of children’s performance can’t depend on which of the following?
Options :

1. #® formal or informal

2. % objective or subjective

3. # norm-referenced or criterion-referenced

4. ¥ good students or bad students

Question Number : 298 Question Id : 59445944429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

! o UGRH &1 Sdhad (e Fafeied # 9 forg R Ak T8t e I 82
Options :

1. % 3UEIRe a1 SHYATRSG

2. % JgY Il HTRIIRD



3. % AFGe-daiid a1 A e-daiHd
4. 3 BH TR TH

Question Number : 299 Question Id : 59445944430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is incorrect regarding teaching literature?

Options :

1. ¢ Literature should be taught in only the first language of the child.

2. % The selected literature should be in easy words and simple sentences.

3. # Grammar should be taught only to a limited extent where it is really needed.

4. ® Teachers should pick materials that would prove challenging for the mental abilities of children.

Question Number : 299 Question Id : 59445944430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Foffad 7 3 o a1 ifed Riaor & deiy & Tefd 82

Options :

1. ¢ Tl Had g= &1 gt 4N H Tl 91 ANyl

2. % MG g A Wsal 3R I ara) § g A1 |

3. % SIHIU] dhad U JIHd GIHT d& Tl ST dlfeT SIgf 39D dRdd H Tagdhdl 8l |
4. % Rrefep! ot T IR -1 A1RT S ol bt AT efdTsli & fore gdtguf wfad gl

Question Number : 300 Question Id : 59445944431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following helps in determining a lesson-plan by the teachers?
1. Class timings
2. Class size and age group of children

Options :
1. ¥ Only 1
2. % Only 2



3.4 Both 1 and 2
4. % Neither 1 nor 2

Question Number : 300 Question Id : 59445944431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad 7 9 o e gR1 urs-aiemT Ryiid w1 H Aeg &Rl g2
1. &I HI JHYT

2. BT P MHR AR T BT Y

Options :

1. % Had |

2. % Had 2

3. gl 1 3R 2

4. % A1 3RAE 2




